Anhangebock WESTFALIA

Anhaengerbuk
Caballete defijacion
Support de remorquage
Vetolaiteyksikko
Towing bracket
Supporto per rimorchio
Tilhengerbukk
Koppelingsconsole
Slapvagnsfaste

Koziot holowniczy.
Oonyieg TomodéTnong e Aertovyiog

Tazna zarizeni

0060600000000

ClE
© ©

313154691 111 - 09/08 - 001



Anbauanweisung

Anhangebock

Westfalia-Bestell-Nr.: 313 154
Typ: 313 140 Ausf. C
EG-Genehmigungszeichen nach Richtlinie 94/20/EG.: el13 00-0428

Verwendungsbereich:

Mercedes-Benz: 408 (D) - 415 (D); (Sprinter ab 1995)

und VW LT 35...46; (VW LT2)

Kastenwagen und Bus mit Radstand 3550 mm, 4,6t zulassiges Gesamtgewicht
Amtliche Typenbezeichnung nach EG-Typgenehmigung:

Mercedes Benz: Typ C, D, G, H, 904.
und VW: 2DXOAZ

Technische Daten :

Der geprufte D-Wertbetragt 17,82 kN. Dieser entspricht zum Beispiel einer Anhangelastvon 3000
kg und einem zulassigen Gesamtgewicht von 4600 kg. MaRgebend sind jedoch die Angaben des
Fahrzeug-briefes / Fahrzeugscheines. Der geprtifte D - Wert darf nicht Giberschritten werden. Die
zulassige Stutzlast darf 120 kg nicht Uberschreiten.

Anden Anhangerbock darf eine Kupplungskugel mit Halterung oder eine Bolzenkupplung montiert
werden. Bei Montage der Bolzenkupplung sind die Freiraummal3e nach Anlagel der
Unfallverhitungsvorschrift "Fahrzeuge” (VGB 12) einzuhalten.

Der Anhé&ngebock darf nur zum Ziehen von Anhangern mit entsprechender Zugkugelkupplung
verwendet werden. Mu3 durch den Anbau des Anhéangebockes die Abschleppdse entfernt
werden, dient der Anhangebock als Ersatz hierfur, sofern die zulassige Anhéngelast nicht
Uberschritten wird und der Abschleppvorgang auf verkehrsiblichen Stral3en erfolgt.

Hinweis 1 : Der Anhéngebock ist ein Sicherheitsteil und darf nur von Fachpersonal montiert
werden. Sofern Ersatzteile erforderlich werden, durfen auch diese nur von
Fachpersonal am unbeschadigten Originalteil verbaut werden.

Jegliche Anderung bzw. Umbauten an dem Anhangebock sind unzulassig.
Sie fuhren Uberdies zum Erl6schen der Betriebserlaubnis.

Hinweis 2 : Isoliermasse bzw. Unterbodenschutz am Kfz. - falls vorhanden - im Bereich
der Anlageflache des Anhangebockes entfernen.
Blanke Karosseriestellen mit Rostschutzfarbe streichen.

Hinweis 3 : Bei Fahrt mit Anhanger sind die Fahrthinweise in der Betriebsanleitung des
Fahrzeugherstelleres zu beachten.



Typ: 313 140 Ausf. C

Hinweis 4 : An diesen Anhangerbock sind folgende Teile wahlweise anbaubar.
1.) Kugelplatte Typ: 329 061 / 329 062
2.) Bolzenkupplung Typ: 243 U 115EL
Kugelplatte und selbsttatige Bolzenkupplung dirfen auch in Verbindung mit
einem Kupplungsschnellwechselsystem montiertwerden.
3.) Trittstufe u.a. bei "d"

Lieferumfang des Anh&ngebockes:

Pos.  Bezeichnung Anzahl
1 Anhangebock 1
2/3 Stutze 2
4 Distanzrohr 4
5 U-Profil 2
6 Sechskantschraube M12x1,5x100, Festigkeitsklasse 10.9 8
7 Sechskantschraube M10x90, Festigkeitsklasse 10.9 4
8 Sechskantschraube M10x35, Festigkeitsklasse 10.9 4
9 Sechskantschraube M10x30, Festigkeitsklasse 10.9 4
10 Bundmutter M10, Festigkeitsklasse 10 2
11 Sechskantmutter M10, Festigkeitsklasse 10 4
12 Sechskantmutter M12x1,5, Festigkeitsklasse 10 8
13 Scheibe 13x24x2,5 8
14 Anbauanweisung 1
15 Scheibe 10,5x25x4 4
16 Scheibe 10,5x21x2 4

Lieferbare Ersatzteilumfange des Anhangebockes
Ersatzteil-Nr. Bezeichnung

913 154 650 001 VPE - Befestigungsteile (Pos. 4, 6-16)
913 154 617 001 VPE - U-Profil (Pos. 5)
913 154 619 001 VPE - Stitzen (Pos. 2, 3)

Anbauanweisung:
1.) Abschleppdse abschrauben. Abschleppdse entfallt. Ersatzrad aus Halterung entnehmen.

Auspuffanlage soweit erforderlich aushangen/demontieren.

2.) Anhéngebock 1 und Stiutzen 2/3 unter das Kraftfahrzeug halten und bei "a" mit den
fahrzeugseitig vorhandenen Bohrungen zur Deckung bringen. Sechskantschrauben M12 bei
"a" einsetzen und mit Scheiben und Sechskantmuttern lose verschrauben.

3.) U-Profile 5 auf die Langstrager des Kraftfahrzeuges schieben und bei "c" mit
Sechskantschrauben M10 und Scheiben lose verschrauben.
U-Profile 5 fixieren (Mal3: 28mm beachten).
Bohrungen"b" der U-Profile 5 auf die La&ngstrager des Kraftfahrzeuges Ubertragen. U-Profil
5abschrauben.

4.) Fahrzeuglangstrager bei "b" bohren (siehe Schnitt A-A)
a) Inneren Steg 918,5mm
b) AuReren Steg 10,5mm
Bohrungen entgraten.



Typ: 313 140 Ausf. C

5.) U-Profile 5bei"c"anschrauben. Sechskantschrauben M10 mit Scheiben und Distanzen 4 bei
"b" einsetzen und mit Sicherungsmuttern M10 verschrauben.

6.) Anhangebock ausrichten und Sechskantschrauben/Sechskantmuttern festziehen.

7.) Kugelplatte bei "f" mit Sechskantschrauben M10x35 und Bundmuttern M10 und bei "e" mit
Sechskantschrauben M10x35 an den Anhangebock 1 anschrauben.

8.) Es werden Schrauben M12 / Muttern M12 der Festigkeitsklasse10 verwendet
Es werden Schrauben M10 / Muttern M10 der Festigkeitsklasse 10 verwendet.
Anzugsdrehmomente:

Schrauben M12 - Festigkeitsklasse 10.9 [C93 Nm +5%
Schrauben M10 - Festigkeitsklasse 10.9 Nm +5%

Die vom Fahrzeughersteller angegebenen serienmaliig, in der ABE genehmigten
Befestigungspunkte des Fahrzeuges sind eingehalten.

Elektrische Anlage gemal3 StVZO.
Die Anbaumal3e und Freiraummalf3e nach DIN 74 058 sind gewébhrleistet.

Insbesondere wird darauf hingewiesen, dal? der Fahrzeughalter bei nachtraglichem Anbau unter
Vorlage des Gutachtens Uber den vorschriftsmaRigen Zustand des Fahrzeuges eine erneute
Betriebserlaubnis fiir das Fahrzeug bei der Verwaltungsbehorde ( Zulassungsstelle ) zu
beantragen hat.

Dieser Anhangebock einschlie3lich aller Montageteile wiegt ca. 18,5kg. Bitte beriicksichtigen Sie,
dald sich das Leergewicht Ihres Kfz. nach Montage des Anhagebockes um diesen Betrag erhoht.

Hinweis:

Bei Anbau dieser Anhangevorrichtung an ein in der Schweiz zugelassenes Fahrzeug:

Der beiliegende Anhangelast-Aufkleber ist an der Anhangevorrichtung an gut sichtbarer Stelle
anzubringen. Diese Angabe der Anhangelast bezieht sich auf die Anhéangevorrichtung, die zulassige
Anhangelastdes Fahrzeugesistden Fahrzeugpapieren zu entnehmen.

Was Sie bei gewerblicher Nutzung von Zugfahrzeug und Anhénger beachten missen:

Die neuen EG-Sozialvorschriften schreiben fur neue und bereits im Verkehr befindliche Fahrzeuge die
Ausrustung mit einem EG-Kontrollgerat vor, wenn das Fahrzeug z. B. der Gliterbeférderung dient
und soferndie Summe der zulassigen Gesamtgewichte von Kraftfahrzeug und Anhangermehr als 3,5
t betragt.

Ausgenommen von dieser Vorschrift sind:
- Fahrzeuge, die der Personenbeftrderung dienen und die nach ihrer Bauart und
Ausstattung geeignet und dazu bestimmt sind, bis zu 9 Personen -
einschlief3lich Fahrer - zu befordern.

- Fahrzeuge, die der Glterbeférderung dienen und deren zulassiges Gesamtgewicht
einschlie3lich Anhanger 3,5 t nicht Ubersteigt.

- Fahrzeuge, die zur nichtgewerblichen Guterbeférderung fiir ausschlief3lich private
Zwecke verwendetwerden, z. B. Beforderungsvorgéange im hauslichen Bereich, sowie
fur Hobby und Sport (Wohn-, Boots- und Pferdeanhéanger).



Typ: 313 140 Ausf. C

WICHTIG:

FurBootsverleiher, Pferdehandler usw. istdas Mitfiihren z. B. eines Boots- oder Pferdeanhangers
im Rahmen des Geschéftsbetriebes eine gewerbliche Guterbeférderung.

Mal3gebend ist also der konkrete Zweck der Fahrt. Die nicht gewerbliche Beférderung muf3 ggf.
nachgewiesenwerden.

Daruber hinaus kdbnnendie zustandigen Landesbehdrden auf Antrag Ausnahmen gewahrenfir:

- Fahrzeuge, die in einem Umkreis von 50 km vom Standort des Fahrzeuges (einschlief3lich
des Gebietes von Gemeinden, deren Zentrum innerhalb dieses Umkreises liegt) zur
Beftérderung von Material oder Ausriistung verwendet werden, die der Fahrerin Ausiibung
seines Berufes bendtigt (Voraussetzung ist, dal3 das Fihren des Fahrzeuges flir den
Fahrer nicht die Haupttatigkeit darstellt) oder die von Landwirtschafts-, Gartenbau-,
Forstwirtschaft- oder Fischereibetrieben zur Guterbeférderung benutzt wird.

- Fahrzeuge, die zur Beforderung von tierischen Abféllen oder von nicht fir den menschlichen
Verzehr bestimmten Tierkdrpern dienen.

- Fahrzeuge die zum Transport lebender Tiere von landwirtschaftlichen Betrieben zu den
lokalen Markten und umgekehrt oder von den Markten zu den lokalen Schlachthdusern
eingesetzt werden .

- Der private Transport von Reitpferden in zulassungsfreien Sportanhangern ist von der
genannten EG- Vorschriftausgenommen .

- Fahrzeuge, die als Verkaufswagen auf drtlichen Markten oder fir den ambulanten Verkauf,
zum Ausleihen von Bichern , Schallplatten oder fir Wanderausstellungen verwendet
werden und flr diesen Zwecke besonders ausgestattet werden.

Wenn Sie einen PKW mit Anhanger dennoch zur gewerblichen Guterbeférderung einsetzen wollen,
raten wir lThnen, durch die Wahl eines leichtern Anh&ngers das zuldssige Gesamtgewicht des
Fahrzeuges einschlief3lich Anhanger von 3,5 t nicht zu Uberschreiten. Es besteht ferner die
Mdoglichkeit, das zulassige Gesamtgewicht eines vorhandenen Anhangers ohne bauliche
Mafinahmenzureduzieren,d. h. diese Angabe im Anhangerschein und/oder aufdem Typenschild
zu andern. Dazu muf der Anhanger einem amtlich anerkannten Sachverstandigen des TUV/TUH
vorgestelltwerden, um den Fahrzeugbrief zu berichtigen; danach wird der Fahrzeugschein beider
Zulassungstelle (StraRenverkehrsamt) berichtigt.

Diese Anbauanweisung ist den Kfz.-Papieren beizuftigen.



Montage- og driftsanvisning

Anhaengertraek

Westfaliabestillingsnr.: 313 154

Type: 313 140 Ausf. C
EU-godkendelsestegn iflg. retningslinie 94/20/EF: e13 00-0428

Anvendelsesomrade:

Mercedes-Benz: 408 (D) - 415 (D); (Sprinter fra 1995)

og VW LT 35 ... 46; (VW LT2)

Kassevogn og bus med hjulstand 3550 mm, 4,6t tilladt totalvaegt
Officiel typebetegnelse iflg. EU-typegodkendelse:
Mercedes-Benz: Type C, D, G, H, 904.

og VW: 2DX0AZ

Tekniske specifikationer:

Den kontrollerede D-veerdi udgaer 17,82 kN. Dette svarer f.eks. til en anhaengerlast pa 3000 kg og
en tilladt totalvaegt pa 4600 kg.

Oplysningerne i karetgjets registreringspapirer er de retningsgivende. Den kontrollerede D-
veerdi ma ikke overskrides. Den tilladte stgttelast ma ikke overskride 120 kg.

Der ma monteres et anhaengertreek eller en skruekobling pa anheengerbukken. Ved montage af
en skruekobling skal man overholdefrirumsmaleneivedhaeng 1 til ulykkesforskirfterne “Kgretgjer”
(VGB 12).

Man ma udelukkende anvende anhaengerbukken til treek af anhaengere med den rigtige
treekkuglekobling.

Hvis man bliver ngdt til at fierne sleebegjet via montagen af anhaengerbukken, fungerer
anhaengerbukken som erstatning for denne, safremt den tilladte anhaengerlast ikke
overskrides og nar sleebeprocessen sker pa normale trafiksveje.

Henvisning 1: Anhaengerbukken er en sikkerhedsrelevant del og maudelukkende blive monteret
af fagligt kompetent personale. Hvis reservedele er nagdvendige, ma disse
udelukkende monteres som ubeskadigede originaldele af fagligt kompetent
personale.

Enhver eendring henh. ombygning pa anhaengerbukken er forbudt.
AEndringer eller ombygninger ville medfgre, at driftstilladelsen udlgber.

Henvisning 2: Isoleringsmassen henh. undervognsbeskyttelsen pa kgretgjet, hvis dette er
tilstede, skal fiernes i omradet omkring anhaengerbukkens anleegsflade. De
blanke karosseridele skal males over med rustbeskyttelsesfarve.

Henvisning 3: Ved karsel med anhaengeren skal man vaere opmaerksom pa og overholde
karselshenvisningerne i driftsvejledningen fra karetgjsfabrikanten.




Type: 313 140 Ausf. C

Henvisning 4. Man kan veelge at montere falgende dele pa denne anhaengerbuk.

1.) Kugleplade type: 329 061 / 329 062

2.) Skruekobling type: 243 U 115 EL
Kuglepladen og den automatiske skruekobling ma udelukkende monteresi
forbindelse med det hurtige udskiftningssystem til koblinger.

3.) Trinbreet bla. ved ,d*

Anhaengerbukkens leveringsomfang:

Pos.

1
2/3

O©oo~NO Ol

10
11
12
13
14
15
16

Betegnelse

Anhangerbuk

Stotte

Distancergr

U-profil

Sekskantskrue M12x1,5x100, styrkeklasse 10.9
Sekskantskrue M10x90, styrkeklasse 10.9
Sekskantskrue M10x35, styrkeklasse 10.9
Sekskantskrue M10x30, styrkeklasse 10.9
Brystmgtrik M10, styrkeklasse 10
Sekskantmgtrik M10, styrkeklasse 10
Sekskantmgtrik M12x1,5, styrkeklasse 10
Skive 13x24x2,5

Montagevejledning

Skive 10,5x25x4

Skive 10,5x21x2

-b-hl—‘OOOO-bN-b-h-bOOI\J-bNH(-—xQ

Reservedele, der kan leveres til anhaengerbukken
Reservedelsnr. Betegnelse

913 154 650 001 VPE - fastggrelsesdele (pos. 4, 6 - 16)
913 154 617 001 VPE - U-profil (pos. 5)
913 154 619 001 VPE - Statte (pos. 2, 3)

Montageanvisning:

1)

Sleebegijet skrues af. Man har ikke laengere brug for sleebegjet. Reservehjulet fijernes fra

holdeanordningen. Udstagdningsanleegget heenges ud/afmonteres.

2)

3)

4))

5.)

Anhaengertraekket 1 og statterne 2/3 holdes under kgretgjet og bringes til dsekning med de
udboringer, der er til stede pa karetgjet. Sekskantskruerne M12 placeres ved “a” og skrues
lost sammen med skiverne og sekskantmgtrikkerne.

U-profilerne 5 skubbes fast pa karetgjets leengdedragere og skrues lgst sammen med
sekskantskruerne M10 og skiverne ved “c”. U-profilerne 5 centreres (mal: 28mm

skal der tages hensyn til). Udboringerne ,b“ pa U-profilerne 5 skal overdrages til
laengdedragerne pa karetgjet. U-profilerne 5 skrues fast.

Karetgjets leengdedrager udbores ved ,b“ (se snit A-A)
a) Indvendigt forbindelsesstykke g18,5mm

b) Udvendigt forbindelsesstykke g10,5mm
Udboringerne afgrates.

U-profilerne 5 skrues fast ved ,c“. Sekskantskruerne M 10 placeres ved “b” med skiverne
og distancerne 4 og skrues fast med sikringsmgtrikkerne M10.



Type: 313 140 Ausf. C

6.) Anheengerbukken centreres og sekskantskruerne / sekskantmgtrikkerne treekkes fast.

7.) Kuglepladen ved “f" skrues fast pa anhaengerbukken 1 sammen med sekskantskruerne
M10x35 og brystmgatrikkerne M10 og ved “e” sammen med sekskantskruerne M10x35.

8.) Man anvender skruer M12 / mgtrikker M12 med styrkeklassen 10.
Man anvender skruer M10 / mgtrikker M10 med styrkeklassen 10.

Startdrejningsmomenter:
Skruer M12 - styrkeklasse 10.9 [_195 Nm +5%
Skruer M10 - styrkeklasse 10.9 [_155 Nm +5%

De fastgarelsespunkter, som kgretgjsfabrikanten har angivet for at veere standard til det
pageeldende kgretgj i ABE er overholdt.

Elektrisk anlaeg i henh. til StVZO.
Montagemalene og frirumsmalene er garanterede iflg. DIN 74 058.

Der henvises iseer til. at karetgjet ejermand skal ansgge om en ny driftstilladelse hos de
offentlige instanser (registreringskonton) for det pageeldende kgretgj ved senere montage, idet
man foreviser en erklaering, at karetgjet befinder sig i en tilstand, der stemmer overens med
forskrifterne.

Denne anhaengerbuk samt alle montagedele vejer ca. 18,5 kg. Veer venligst opmaerksom pa,
at karetgjets veegt bliver foraget med dette tal, nar man monterer anhaengerbukken.

Henvisning:

Ved montage af dette anhaengertraek pa karetgijer, der er tilladt i Schweiz.

Den vedlagte meerkat angdende anhaengerlasten skal placeres pa et synligt sted pa
anhaengertraekket. Denne oplysning henviser til anhaengertraekket, karetgijets tilladte anhaengerlast
oplyses i registreringspapirene.

Hvad De bgr vide om brug af kgretgjet og anheengeren ved firmabrug:

De nye EU-socialforskrifter foreskriver et udstyr med et EU-kontrolapparat til nye karetgjer og
karetgjer, der allerede befinder sig i trafikken, hvis det pageeldende kegretgj f.eks. har til formal at
transportere gods og hvis summen af den tilladte totalveegt udger mere end 3,5 t for karetaj og
anhaenger.

Undtaget fra denne forskrift er fglgende:
- Karetgjer, der har til formal at transportere personer og som iflg. deres model og udstyr
egner sig til og er bestemt til at transportere op til 9 personer, incl. chauffer.

- Karetgjer, der har til formal at transportere gods, og hvis totalveegt incl. anhaenger ikke
overstiger 3,5 t.

- Karetgjer, der udelukkende anvendes til private formal, f.eks. private transporter,
sasom til hobby og sport (anhaenger til hjem, bade og heste).



Type: 313 140 Ausf. C

VIGTIG:

For badudlejere, hestehandlere osv. gaelder transport af f.eks. en bad- eller hesteanhaenger
som godstransport inden for rammerne af arbejdsomradet.

Karslens kontrete formal er altsd malgivende. Transport, der ikke er i firmagjemed, skal altsa
kunne bevises.

Derudover kan det pagaeldende lands offentlige instanser tillade undtagelser i de glgende
tilfeelde:

- Karetgjer, der anvendes til transport at materialer eller udstyr inden for en omkreds pa
50 km fra karetgjets position (incl. kommuner, hvis centrum er placeret inden for denne
omkreds), hvis chauffgren har brug for disse materialer eller dette udstyr for atkunne udgve
sit erhverv (forudsaetning er, at chauffarens primeere arbejde ikke bestar i at kgre det
pageeldende karetgj) eller karetajer, der bliver brugt til transport af gods indenfor landbrug,
gartnerier, skovarbejde eller fiskeri.

- Karetgjer, der anvendes til transport af dyreaffald eller der anvendes til transport af
dyrekroppe, der ikke er beregnede til forteering af mennesker.

- Karetgjer, der anvendes til transport af levende dyr fra landbrugsdrift til lokale markeder
eller omvendt fra markeder til lokale slagterier.

- Privattransport af heste, der bruges til ridesport, i sportsanhaengere, er undtaget fra den
ovennavnte EU-forskrift.

- Karetgjer, der anvendes som salgsvogne pa lokale markeder eller til ambulant salg, udlan
af bgger, plader eller til vandreudstillinger og som er udstyret til disse formal.

Hvis De alligevel gnsker at anvende Deres personbil samt anhaenger til godstransport i
forretningsajemed, rader vi Dem til ikke at overskride det pageeldende karetgis tilladte
totalvaegt pa 3,5 t incl. anhaenger, idet De veelger en lettere anhaenger. De har derudover ogsa
mulighed for at reducere den aktuelle anhaengers tilladte totalveegt via eendringer, dvs. at
aendre denne oplysning i anhaengerens registreringspapirer og /eller pa typeskiltet. | dette
tilfeelde skal man farst lade anhaengeren blive godkendt til dette formal af en sagkyndig
person, sa at oplysningerne i registreringspapirene kan blive korrigeret; derefter bliver
registreringspapirene korrigeret pa registreringskontoret (feerdselskontor).

Denne montagevejledning skal vedleegges det pageeldende karetgjs registreringspapirer.



Instrucciones de servicio y montaje
del enganche esférico con fijacion

NUm. de pedido Westfalia: 313154
Modelo: 313 140 Version C
Marca de autorizacion CE segun la normativa 94/20/CE: el13 00-0428

Ambitodeaplicacion:

Mercedes-Benz: 408 (D) - 415 (D); (Sprinter a partir de 1995)

y Volkswagen LT 35...46; (VW LT2)

Furgoneta y microbus con batalla de 3550 mm, peso total autorizado de 4,6 t
Designacion oficial de modelo segun laautorizacion de modelos CE:
Mercedes - Benz: Modelo C, D, G, H, 904.

y Volkswagen: 2DX0OAZ

Datos técnicos:

El valor D verificado es de 17,82 kN. Esto representa, p.ej., una carga de remolque de 3000 kg.
y un peso total autorizado de 4600 kg.

Son determinantes los datos de la carta/ documentacion del vehiculo. El valor D comprobado
no debe sobrepasarse. La carga de apoyo autorizada no debe sobrepasar los 120 kg.

En el caballete de fijacion puede montarse un enganche o un acoplamiento por perno. Al
efectuar el montaje del acoplamiento por perno deberan observarse las medidas de espacios
libres fijadas en el anexo 1 de la ley de prevencion de accidentes «Vehiculos» (Norma de la
asociacion para la prevencion y el seguro de accidentes, VBG 12).

El caballete de fijacion debe utilizarse exclusivamente para el arrastre de remolques
equipados con el correspondiente acoplamiento esférico para remolque. Si es necesario
desmontar la argolla de remolque del vehiculo a consecuencia del montaje del caballete de
fijacion, el enganche esférico sirve como sustituto de la misma, en tanto no se sobrepase la
carga de remolque autorizada y el remolcado se efectlue por vias publicas.

Indicacion 1: Elcaballete de fijacion es una pieza de seguridad y s6lo puede ser montado por
personal especializado. Sise necesita montar piezas de repuesto, éstas deberan
ser montadas asimismo por personal especializado sobre la pieza original
incélume.

Esta prohibido efectuar cualquier modificacién o cambio en el caballete de
fijacion.
Ello conlleva la anulacion del permiso de circulacion.

Indicacion 2: Eliminarla masilla aislante o proteccion de bajos del vehiculo - en caso de existir
- en la zona de la superficie de apoyo del caballete de fijacion. Aplicar pintura
protectora anticorrosion a las superficies de chapa desnudas.

Indicacion 3: Al circular con el remolque, deben observarse las indicaciones de conduccion
contenidas en las instrucciones de manejo del fabricante del vehiculo.

10



Modelo: 313 140 Version C

Indicacion 4. En este caballete de fijacion pueden montarse opcionalmente las siguientes

piezas.
1.) Placa de bola modelo: 329 061 / 329 062
2.) Acoplamiento por perno modelo: 243 U 115 EL
Laplacade bolay el acoplamiento automatico por perno pueden montarse
también en combinacién con un sistema de cambio rapido de acoplamiento.
3.) Peldafio entre otros en ,d"

Volumen de suministro del caballete de fijacion:

Pos.

1
2/3

O©oOo~NO 01~

10
11
12
13
14
15
16

Designacion Cantidad
Caballete de fijacion

Apoyo

Tubo distanciador

Perfilen U

Tornillo hexagonal M12x1,5x100, clase de resistencia 10.9
Tornillo hexagonal M10x90, clase de resistencia 10.9
Tornillo hexagonal M10x35, clase de resistencia 10.9
Tornillo hexagonal M10x30, clase de resistencia 10.9
Tuerca de collar M10, clase de resistencia 10

Tuerca hexagonal M10, clase de resistencia 10

Tuerca hexagonal M12x1,5, clase de resistencia 10
Arandela 13x24x2,5

Instrucciones de montaje

Arandela 10,5x25x4

Arandela10,5x21x2

ABRNRFRPOOANPAARMMPMONANE

Volumen de piezas de repuesto suministrables del caballete de fijacion
Num. de pieza de repuesto Designacion

913 154 650 001 Unidad de embalaje Piezas de fijacion (pos. 4, 6 - 16)
913 154 617 001 Unidad de embalaje Perfil en U (pos. 5)
913 154 619 001 Unidad de embalaje Apoyo (pos. 2, 3)

Instrucciones de montaje:

1)

2)

3)

4.)

5.)

Desenroscar laargolla de remolque. La argolla de remolque se suprime. Retirar larueda de
repuesto del soporte. Desenganchar/ desmontar el sistema de escape en caso necesario.

Sujetar el enganche 1y los apoyos 2/3 debajo del vehiculo y hacer coincidir en ,a“
con los taladros existentes en el vehiculo. Colocar los tornillos hexagonales M12 en ,a“y
atornillarlos sin apretar definitivamente con arandelas y tuercas hexagonales.

Calarlos perfilesen U5 enloslargueros del vehiculoy atornillarlos sin apretar definitivamente
en ,c" conlos tornillos hexagonales M10 y las arandelas. Fijar los perfiles en U 5 (observar
lamedida: 28 mm). Marcar lostaladros ,,b* de los perfilesen U 5 enlos largueros del vehiculo.
Desatornillar los perfiles en U.

Taladrar los largueros del vehiculo en ,b“ (vea la seccion A-A)
a) Nervio interior 18,5mm

b) Nervio exterior 10,5mm

Desbarbar los taladros efectuados.

Atornillar los perfiles en U 5 en ,c”. Colocar los tornillos hexagonales M10 con arandelas 'y
piezas distanciadoras 4 en ,b“ y atornillarlos con las tuercas de seguridad M10.

11



Modelo: 313 140 Version C

6.) Centrar el caballete de fijacion y apretar fijamente los tornillos hexagonales/ tuercas
hexagonales.

7.) Atornillar la placa de bola en "f’ con tornillos hexagonales M10x35 y tuercas de collar M10
y en "e” con tornillos hexagonales M10x35 en el caballete de fijacion 1.

8.) Se utilizan tornillos M12/ tuercas M12 de la clase de resistencia 10.
Se utilizan tornillos M10/ tuercas M10 de la clase de resistencia 10.

Pares de apriete:
Tornillos M12 - clase de resistencia 10.9 [C98INmM +5%
Tornillos M10 - clase de resistencia 10.9 [CRAINmM +5%

Se han tomado en consideracion los puntos de fijacion de serie del vehiculo indicados por el
fabricante del vehiculo y autorizados en el permiso de circulacion.

La instalacion eléctrica segun lo especificado por el codigo de circulacion

Quedan garantizadas las medidas de montaje y de espacios libres segun lo especificado en la
norma DIN 74 058.

Se indica con especial atencion, que en caso de montaje ulterior, el duefio del vehiculo debera
pedir un permiso de circulacién nuevo para el vehiculo bajo la presentacion del certificado de
estado reglamentario del vehiculo en las autoridades de administracion (departamento de
trafico).

Este caballete de fijacion pesa 18,5 kg, incluidas las piezas de montaje. Tenga en cuenta que
el peso en vacio de su vehiculo se incrementa en dicho valor tras el montaje del caballete de
fijacion.

Indicacién:

En caso de montaje de este enganche en un vehiculo matriculado en Suiza:

El adhesivo indicador de la carga de remolque debe colocarse en el enganche en un lugar bien
visible. Estos datos de la carga de remolque se refieren al enganche, la carga de remolque
autorizada del vehiculo debe extraerse de la documentacién del vehiculo.

Observaciones en caso de utilizacion comercial del vehiculo de arrastre y del remolque:
Las nuevas prescripciones sociales de la CE obligan a vehiculos nuevos y a aquellos ya en
circulacion a equiparse con un aparato de control homologado en la CE, si el vehiculo se
destina por ejemplo al transporte de mercancias y si de esta manera la suma de los pesos totales
autorizados para vehiculo y remolque superan los 3,5 t.

Estan exentos de estas prescripciones:
- Vehiculos destinados al transporte de personas que segun su tipo de construccion y
equipamiento sirvan y estén destinados a transportar hasta 9 personas - incluido el
conductor.

- Vehiculos destinados altransporte de mercanciasy cuyo pesototal autorizado, incluido
el del remolque, no supere las 3,5 toneladas.

- Vehiculos que se utilicen para el transporte de mercancias de tipo no comercial
fundamentalmente parauso privado, por ejemplo transportes para uso domestico, asi
como paraactividades de ocioy deportes (remolque caravana, de barcay de transporte
de caballos).

12



Modelo: 313 140 Version C

IMPORTANTE:

Para empresas de alquiler de barcas, tratantes de caballos etc., la utilizacion de p.ej. un
remolque de barca o de transporte de caballos en el marco del ejercicio de la empresa
constituye un transporte de mercancias de caracter comercial.

Lo esencial por lo tanto es el objetivo concreto del trayecto. El hecho de transporte de
caracter no comercial debe ser demostrado en caso necesario.

Por encima de esto, las autoridades nacionales competentes pueden conceder exenciones
bajo peticién para:

- Vehiculos utilizados en un perimetro de 50 km desde el lugar de residencia (incluido el
territorio de comunidades cuyo centro esté situado dentro de este perimetro) y destinados
al transporte de materiales o equipamiento necesarios para la realizacion del trabajo del
conductor (la condicién es que la utilizacién del vehiculo no represente la actividad principal
para el conductor) o aquellos utilizados por establecimientos de agricultura, jardineria,
silvicultura o pescaderias para el transporte de mercancias.

- Vehiculos destinados al transporte de residuos animales o de cuerpos animales no
destinados ala alimentacion humana.

- Vehiculos que se utilicen para el transporte de animales vivos desde los establecimientos
agronomos hacia los mercados locales y viceversa o desde los mercados hacia los
mataderos locales.

- El transporte privado de caballos de montar en remolques de deporte sin matricula esta
exento de la prescripcion de la CE anterior.

- Vehiculos destinados a la venta en mercados locales o que se utilicen para la venta
ambulante, para el préstamo de libros, discos o para las exposiciones ambulantes y que
para ello estén equipados especialmente.

Auln asi, en caso de que se desee utilizar un vehiculo de turismo con remolque para el
transporte de mercancias de indole comercial, se aconseja no sobrepasar el peso total
autorizado del vehiculo incluido el del remolque, al elegir un remolque mas ligero, de 3,5t.
Ademas existe la posibilidad de reducir el peso total autorizado de un remolque existente sin
efectuar medidas constructivas, es decir de cambiar este dato en la documentacién del
remolque y/o en el rétulo de modelo. Para ello, el remolque debe ser mostrado a un experto
de la ITV oficialmente reconocido para corregir los datos de la carta del vehiculo; después se
procede a modificar la documentacion del vehiculo en el departamento de tréafico.

Estas instrucciones de montaje deben adjuntarse a la documentacion del vehiculo.

13



Instructions de montage et d’emploi
Boule d’attelage avec support

Référence Westfalia: 313 154
Type: 313 140 Modéle C
Réféerence d'homologation CE selon la directive 94/20/CE: e13 00-0428

Domained’utilisation:

Mercedes-Benz: 408 (D) - 415 (D); (Sprinter depuis 1995)

et VW LT 35...46; (VW LT2)

Fourgonnette et autobus avec empattement 3550 mm, poids total autorisé 4,6 t
Désignation du type officielle suivant I'autorisation du type CE:
Mercedes-Benz: type C, D, G, H, 904.

et VW: 2DX0OAZ

Caractéristiques techniques:

Lavaleur D controlée estde 17,82 kN. Celle-ci correspond par exemple a une charge remorquée

de 3000 kg et a un poids total admissible de 4600 kg. _ .
Les données de la carte grise ou des documents d’'immatriculation du véhicule sont

déterminants. La valeur D contrdlée ne doit pas étre dépassée. La charge d’appui admissible
ne doit pas dépasser 120 kg.

Il est permis de monter un attelage ou un accouplement a axe sur le support d’attelage. Lors
du montage de I'accouplement a axe, il faut respecter les cotes de dégagement suivant
'annexe 1 des prescriptions concernant la prévention des accidents “Véhicules” (VGB 12 en
Allemagne).

Le support d’attelage doit seulement étre utilisé pour tirer les remorques équipées d’'un
accouplement de traction a boule correspondant. Si 'anneau de remorquage doit étre enlevé a
cause du montage du support d’accouplement, le support d’accouplement sert alors de piece
de remplacement dans la mesure ou la charge de remorquage admissible n’est pas dépassée
et si le remorquage est effectué sur les routes normales de circulation.

Remarque 1: Le support de remorquage est une piece de sécurité et il doit seulement étre
monté par des spécialistes. Dans la mesure ou des pieces de rechange sont
nécessaires, celles-ci doivent seulement étre montées par des spécialistes sur
une piece d’origine en bon état. Toute modification ou transformation sur le
support de remorquage sontinterdites. En outre, elles entrainent I'annulation de
I'autorisation de mise en circulation.

Remarque 2: S’ily en aune, enlever le mastic isolant ou la couche de protection du dessous
de caisse sur le véhicule, a proximité de la surface d’appui du support de
remorquage. Appliquer une couche de protection antirouille sur les parties nues
de la carrosserie.

Remarque 3: Quandle véhiculetire une remorque, il fautrespecter les informations concernant
le remorquage sur les instructions d’emploi du constructeur du véhicule.

14



Type: 313 140 Modéele C

Remarque 4:  Sur ce support de remorquage, les piéces suivantes peuvent étre montées en

option.

1.) Plague a boule type: 329 061 / 329 062

2.) Accouplement a axe type: 243 U 115 EL
La plaque a boule et 'accouplement a axe automatique peuvent aussi étre
montés en liaison avec un systeme rapide d’accouplement.

3.) Marchepieds etc. en «d»

Etendue de livraison du support de remorquage:

Désignation Q
Support de remorquage

Appuis

Tubes d’écartement

Profilé en U

Vis a téte hexagonale M 12 x 1,5 x 100, classe de résistance 10.9
Vis a téte hexagonale M 10x 90, classe de résistance 10.9
Vis a téte hexagonale M 10x 35, classe de résistance 10.9
Vis a téte hexagonale M 10x 30, classe de résistance 10.9
Ecrous a embase M 10, classe de résistance 10

Ecrous hexagonaux M 10, classe de résistance 10

Ecrous hexagonaux M 12x1,5, classe de résistance 10
Rondelles de 13 x 24 x 2,5

Instructions de montage

Rondelles de 10,5 x 25 x 4

Rondelles de 10,5x 21 x 2

ARRPOOANBRRARNONANRG

Pieces de rechange disponibles du support de remorquage

N° de piece de rechange Désignation

913 154 650 001 Pieces de fixation VPE (rep. 4, 6-16)
913 154 617 001 Profilé en U (rep. 5)

913 154 619 001 Appuis VPE (rep. 2, 3)

Instructions de montage:

1)

2)

3)

4.)

5.)

Dévisser'anneau de remorquage. Cetanneau devientinutile. Enlever laroue de secours de
sonsupport. Décrocher ou démonter le systeme des gaz d’échappement sic’estnécessaire.

Tenirle bloc d’attelage 1 etles appuis 2/3 sous le véhicule etles superposer en «a» aux trous
existants coté véhicule. Mettre en place les vis six pans M12 en «a» et les visser sans serrer
avec les rondelles et écrous six pans.

Engager les profilés en U 5 sur les longerons du véhicule et les visser sans serrer en «c» a
I'aide des vis six pans M10 etrondelles. Fixer les profilés en U 5 (respecter la cote de 28 mm).
Reporterlestrous «b» des profilés en U 5 surles longerons du véhicule. Dévisser les profilés
enU>5.

Percer les longerons du véhicule en «b» (voir section A-A)
a) Ame intérieure g 18,5 mm

b) Ame extérieure g 10,5 mm

Ebavurer les trous.

Visser les profilés en U 5 en «c». Mettre en place les vis six pans M10 avec les rondelles et
les entretoises 4 en «b» puis les visser avec les écrous indesserrables M10.

15



Type: 313 140 Modéle C

6.) Aligner le support de remorquage et serrer a fond les vis a téte hexagonale et les écrous
hexagonaux.

7.) Visser la plague a boule sur “f” avec les vis a téte hexagonale M 10 x 35 et les écrous a
embase M 10 et sur “e” avec les vis a téte hexagonale M 10 x 35 sur le support de
remorquage 1.

8.) On utilise les vis M 12 et les écrous M 12 de la classe de résistance 10.
On utilise les vis M 10 et les écrous M 10 de la classe de résistance 10.

Couples de serrage:
Vis M 12 - Classe de résistance 10.9 L399 Nm +5 %
Vis M 10 - Classe de résistance 10.9 CR3NmM +5 %

Les points de fixation du véhicule autorises sur la permission genérale de mise en circulation
du véhicule, de série, indiqués par le constructeur du véhicule, sont respectés.

L'installation électrique est conforme aux spécifications du Code de la Route.
Les cotes de montage et de dégagement suivant la norme allemande DIN 74 058 sont garanties.

En particulier, nous vous faisons remarquer que le propriétaire du véhicule doit demander une
nouvelle autorisation de circulation du véhicule aupres de 'administration compétente (service
d’'immatriculation du véhicule), en cas de montage ultérieur en présentant le rapport
d’expertise concernant I'état du véhicule conforme aux prescriptions.

Ce support de remorquage, y compris toutes les pieces de montage, pese environ 18,5 kg.
Veuillez tenir compte que le poids a vide de votre véhicule augmente de cette valeur apres le
montage du support.

Remarque:
Si on monte ce dispositif d'attelage sur un véhicule immatriculé en Suisse (CH):

Il faut coller I'étiquette jointe d’indication de la charge de remorquage a un emplacement bien
visible du dispositif d'attelage. Cette indication de la charge de remorquage se rapporte au
dispositif d'attelage; il faut relever la charge admissible de remorquage du véhicule sur les
documents d'immatriculation du véhicule.

Ce qu'il faut respecter en cas d'utilisation professionnelle du véhicule tracteur et de la
remorgue:

Les nouvelles prescriptions sociales de la CE prescrivent I’équipement avec un appareil de
contrdle CE pour les vehicules neufs et qui se trouvent déja en circulation, si le véhicule sert par
exemple au transport des marchandises et dans la mesure ou la somme des poids totaux
admissibles du véhicule et de la remorque dépassent 3,5t.

Les vehicules indiqués ci-dessous ne sont pas soumis a ces prescriptions:

- les véhicules, qui servant au transport des personnes et qui, suivant leur mode de
construction et leur équipement, sont appropriés et destinés au transport jusqu’a 9
personnes y compris le conducteur.

- les véhicules, qui servant au transport des marchandises et dont leur poids total y
compris la remorque, ne dépassent pas 3,5t.

- les véhicules, qui sont utilisés uniquement dans un but privé pour le transport des

marchandises non commerciales, par exemple: transports dans le cadre domestique,
pour les loisirs et le sport (remorques pour bateaux et chevaux et caravanes).

16



Type: 313 140 Modéele C

IMPORTANT :

Pour les loueurs de bateaux ou les maquignons, etc., l'utilisation d’'une remorque pour bateaux
ou pour chevaux dans le cadre des activités commerciales constitue un transport de
marchandises commerciales.

Le but concret du déplacement est donc déterminant. Le transport a titre privé doit donc étre
prouvé le cas échéant.

En outre, 'administration compétente peut accorder des dérogations sur demande pour:

les véhicules sont utilisés dans unrayon de 50 km du point d’attache du véhicule (y compris
le territoire des communes dontle centre est situé sur ce rayon) pour transporter du matériel
ou de I'équipement, dont le conducteur a besoin pour exercer son métier (la condition a
remplir est que la conduite du véhicule ne constitue pas I'activité principale du conducteur)
ou gu'ils sont utilisés par des entreprises agricoles, d’horticulture, forestiéres ou par des
pécheries pour le transport des marchandises.

les véhicules qui servent au transport des restes ou des déchets d’animaux ou de corps
d’animaux qui ne sont pas destinés a I'alimentation humaine.

les véhicules qui sont utilisés pour le transport des animaux vivants des exploitations
agricoles aux marchés locaux et vice versa ou des marchés aux abattoirs locaux.

le transport des chevaux de course dans des remorques de sport, ne nécessitant pas
d’autorisation, n’est pas soumis aux prescriptions CE indiquées.

les véhicules qui sont utilisés comme véhicules de ventes sur les marchés locaux ou pour
les ventes ambulantes, pour les prétes de livres, de disques phonographiques ou pour les
expositions mobiles et qui sont tout particulierement équipés dans ce but.

Sivous voulez cependant utiliser une voiture avec remorgue pour transporter des marchandises
dansle cadre professionnel, nous vous recommandons en choisissant une remorque Iégére de ne
pas dépasser le poids total autorisé du véhicule, remorque comprise, de 3,5t. En outre, vous avez
encore la possibilité de diminuer le poids total admissible d’'une remorque existante, sans mesures
de construction; autrement dit: de modifier cette indication sur les documents de la remorque et/
ou sur la plaque signalétique. A cet effet, la remorque doit étre présentée a un expert agréé du
Contréle Technique pour corriger la carte grise ou les documents d'immatriculation; ensuite, la
carte grise ou les documents d’'immatriculation sont corrigés au service d'immatriculation des
véhicules.

Ces instructions de montage doivent accompagner les documents d’immatriculation du
véhicule.

17



D

Asennus- ja kayttoohje
Kytkentakuula ja kiinnitysosa

Westfalian tilausnumero: 313 154

Tyyppi: 313 140 Versio C
EU-hyvaksynta direktiivin 94/20/EG mukaan: e 13 00-0428
Kayttdalue:

Mercedes-Benz: 408 (D) - 415 (D); (Sprinter-autot vuosimallista 1995 lahtien)
jaVW LT 35...46; (VW LT2)

Pakettiautot ja bussit, joiden akselivali on 3550 mm, sallittu kokonaispaino 4,6t
EU-tyyppihyvaksynnan mukainen viranomaisten tyyppimerkinta:
Mercedes-Benz: Mallit C, D, G, H, 904.

ja VW: 2DXOAZ

Tekniset tiedot:

Testattu D-arvoon 17,82 kN. Tama vastaa esimerkiksi 3000 kg:n perdvaunukuormaaja4600 kg:n
sallittua kokonaispainoa. Ajoneuvon rekisteriotteen / dokumenttien tiedot ovat aina maaraavat.
Koestettua D-arvoa ei saa ylittdd. Sallittu koukkukuorma ei saa ylittaa 120 kg.

Vetolaitekehikkoon voi kiinnittaa vetokoukun tai tappikytkentélaitteen. Tappikytkentélaitteen
asennuksen yhteydessa tulee huomioida tapaturmien ehkaisyjulkaisun "Ajoneuvot” (VGB 12)
litteen 1 mukaiset vapaamitat.

Vetolaitekehikkoa saa kayttaa vain vastaavilla vetokoukkukytkenndilla varustettujen
peravaunujen vetadmiseen. Jouduttaessa vetokoukkulaitteiston asennuksen vuoksi poistamaan
hinaussilmukka, toimii vetokoukkukehikko korvaavana valineena, kunhan sallittua vetokuormaa
ei yliteta ja hinaus suoritetaan normaalia ajoneuvoliikennetta varten tarkoitetuilla teilla.

Huomautus 1: Vetokoukku kiinnitysosineen liittyy turvallisuuteen jasen asennuksen saavat
suorittaa ainoastaan ammattimiehet. Tarvittaessa varaosia, ainoastaan
ammattimiehet saavatkiinnittaa ne vahingoittumattomiin alkuperaisosiin.
Kaikki vetokoukkulaitteiston muutokset ja muunnokset ovat kiellettyja.

Ne johtavat liséksi kayttéluvan peruuntumiseen.

Huomautus 2: Niista korin kohdista, jotka koskettavat vetolaitteistoa, tulee poistaa
mahdolliset eristys- ja alustansuojausmassat. Korin paljaat kohdat
suojataan ruosteenestomaalilla.

Huomautus 3: Peravaunuajossatulee huomioida ajoneuvon valmistajan kayttoohjeiden
ajo-ohjeet.

18



Tyyppi: 313 140 Versio C

Huomautus 4: Tahan vetolaitekehikkoon voi valinnaisesti asentaa seuraavat osat.

1.) Vetokoukkulevy malli: 329 061 / 329 062

2.) Tappikytkenta malli: 243 U 115 EL
Vetokoukkulevyn tai automaattisesti toimivan tappikytkentéalaitteen voi
asentaa mydos kytkennan pikavaihtojarjestelmén yhteyteen.

3.) Astinlauta mm. kohdassa ,d*

Vetokoukkukehikon toimituksen sisalto:

10
11
12
13
14
15
16

Nimike

Vetolaitekehikko

Tuki

Valiputki

U-profiili

PulttiM12x1,5x100, lujuusluokka 10.9
Pultti M10x90, lujuusluokka 10.9
PulttiM10x35, lujuusluokka 10.9
Pultti M10x30, lujuusluokka 10.9
Laippamutteri M10, lujuusluokka 10
Mutteri M10, lujuusluokka 10
Mutteri M12x1,5, lujuusluokka 10
Valilevy 13x24x2,5

Asennusohjeet

Valilevy 10,5x25x4

Valilevy 10,5x21x2

<
ARPRPOORNRARARONANRS
D
Q:

Vetokoukkukehikon toimitettavissa olevat varaosat

Varaosanro Nimike

913 154 650 001 Kiinnitysosat (pos. 4, 6-16)
913 154 617 001 U-profiili (pos. 5)
913 154 619 001 Tuki (pos. 2, 3)

Asennusohje:

1.) Irrotahinaussilmukka. Hinaussilmukka eitule uudestaan kayttoon. Poista varapyo6ra
pitimestaan. Irrota ripustimistaan / poista tarpeellinen osa pakoputkistosta.

2.) Pidavetolaitekehikko 1jatukiraudat 2/3 ajoneuvon allaja kohdista se kohdissa,a“ajoneuvon
olemassa oleviin reikiin. Aseta pultit M12 paikoilleen kohtiin ,a" ja kiinnité ne kevyesti
valilevyilla ja muttereilla.

3.) TyonnaU-pofiili5 ajoneuvon pitkittaispalkin paalle ja kiinnita se kevyestikohdissa,,c* pulteilla
M10 ja vélilevyilla. Kirista U-profiili 5 paikalleen (huomioi mitta 28mm ). Merkitse U-profiilin
5 reiat ,,b" ajoneuvon pitkittaispalkkiin. Irrota U-profiili 5.

4.) Poraa reiat pitkittaispalkin kohtiin ,b* (katso leikkausta A-A)

a) palkin sisempi uuma g18,5mm
b) palkin ulompiuuma g10,5mm
Poista reikien jaysteet.
5.) Kiinnita U-profiili 5 kohdissa,c". Aseta pultit M10 valilevyineen ja valirautoineen 4 kohtiin ,b*

jakiinnita ne lukitusmuttereillaM10.

19



Tyyppi: 313 140 Versio C

6.) Suorista vetolaitekehikko ja kirista pultit / mutterit.

7.) Kiinnita vetokoukkulevy kohtiin "f” pulteilla M10x35 ja laippamuttereilla M10 seka kohdissa
"e” pulteilla M10x35 vetolaitekehikkoon 1.

8.) Tulee kayttaa lujuusluokan 10 pultteja M12 / muttereita M12.
Tulee kayttaa lujuusluokan 10 pultteja M10 / muttereita M10.

Kiristysmomentit:

Pultit M12 — lujuusluokka 10.9 [95INm +5%
Pultit M10 — lujuusluokka 10.9 [RBINmM +5%

Ajoneuvon valmistajan ilmoittamat sarjavalmistuksen mukaiset ja dokumenteissa hyvaksytyt
ajoneuvon kiinnityskohdat sopivat kaytettaviksi.

Sahkdlaitteisto StVZO:n mukainen.

Standardin DIN 74 058 mukaiset asennusmitat ja vapaamitat toteutuvat.

Erityisesti painotetaan, etta ajoneuvon haltijan jalkiasennuksen yhteydessa esittamalla todistus
ajoneuvon maaraysten mukaisesta kunnosta tulee hankkia uusi kayttélupa
valvontaviranomaisilta (katsastusasemalta).

Tama vetokoukkulaitteisto kaikkine asennusosineen painaa noin 18,5 kg. Muista huomioida,
ettd ajoneuvon omapaino nousee taman verran vetokoukkulaitteiston asennuksesta johtuen.
Huomautus:

Asennettaessatama vetokoukku Sveitsissé hyvaksyttyyn ajoneuvoon:

Toimitukseen sisaltyva, vetokuorman ilmoittava liimakilpi tulee asentaa vetokoukun hyvin nakyvaan
paikkaan. Tama vetokuormatieto liittyy vetokoukkuun, ajoneuvon sallittu vetokuorma ilmenee
ajoneuvon dokumenteista.

Huomioitavaa vetoauton ja perdvaunun ammattimaisessa kdytdssé:

EU:n uudet sosiaalimaaraysten mukaan uudet ja likenteessa olevat ajoneuvot tulee varustaa EU-
valvontalaitteella kaytettdessa ajoneuvoa tavarankuljetuksissa seka ajoneuvon ja perdvaunun
sallittujen kokonaispainojen summan liséksi ylittdessé 3,5t.

Poikkeuksia tasta maarayksesta:

- Ajoneuvot, joita kaytetaan henkilokuljetuksiin ja jotka rakenteensa ja varustuksensa
puolesta sopivat ja ovat tarkoitettuja enintaan 9 henkilon kuljettamista varten, kuljettaja
mukaan lukien.

- Ajoneuvot, joita kaytetaan tavarankuljetuksissa ja joiden sallittu kokonaispaino
perdvaunu mukaan lukien ei ylita 3,5t.

- Ajoneuvot, joita ei kayteta ammattimaisissa tavarankuljetuksissa vaan ainoastaan

yksityisissa tarkoituksissa, esim. kotitalouden kuljetuksissa tai harrastuksissa ja
urheilussa (asuntovaunut, veneenkuljetusperavaunutjahevoskuljetusperavaunut).

20



Tyyppi: 313 140 Versio C

TARKEAA:

Veneenvuokraajien, hevoskauppiaiden jne. tapauksissa veneenkuljetus- tai
hevoskuljetusperdavaunun hinaaminen yritystoiminnan yhteydessa on ammattimaista
tavarankuljetusta.

Maaraava on taten ajon varsinainen tarkoitus. Ei-ammattimainen kuljetus on tarvittaessa
pystyttava osoittamaan.

Lisaksi kunkin maan viranomaiset voivat pyynnostd myontaa poikkeuslupia seuraavissa
tapauksissa:

- Ajoneuvot, joita kaytetddn alle 50 km:n etéisyydella ajoneuvon sijaintipaikkakunnasta
(mukaan lukien niiden kuntien alueet, joiden keskustat sijaitsevat télla alueella) sellaisten
materiaalien ja laitteistojen kuljetuksiin, joita kuljettaja tarvitsee ammattinsa
harjoittamisessa (edellyttden ettei ajoneuvon ajaminen ole kuljettajan paatoiminta), taijoita
kaytetaan maatalouden, puutarharakentamisen, metsatalouden tai kalastuksen
tavarankuljetuksissa.

- Ajoneuvot, joita kaytetdan elainjatteiden tai sellaisten elainruhojen kuljettamiseen, jotka
eivét ole tarkoitettuja ihmisravinnoksi.

- Ajoneuvot, joita kdytetd&dn maatalouksien elavien elainten kuljettamista varten paikallisille
myyntipaikoille ja painvastoin, tai myyntipaikoilta paikallisiin teurastamoihin.

- Ratsuhevostenyksityiset kuljetukset ei-luvanvaraisissa urheiluperavaunuissa ovat
poikkeuksia edelld mainitusta EU-maarayksesta.

- Ajoneuvot, joita kaytetadn myyntiautoina paikallisilla myyntipaikoilla tai likkuvaa myyntia
varten, kirjojen ja &anilevyjen lainaamista varten tai liikkkuvia nayttelyja varten ja jotka on
varustettu erityisesti tata kayttéa varten.

Halutessanne kuitenkin kayttaa henkilbautoa peravaunuineen ammattimaisissa
tavarankuljetuksissa, suosittelemme pysymisté peravaununkin kasittadvan sallitun
kokonaispainon 3,5 t alla valitsemalla kevyemman peravaunun. Lisaksi on olemassa
mahdollisuus pienentaa olemassa olevan peravaunun sallittua kokonaispainoa ilman
rakenteellisia muutoksia, eli muuttamalla peravaunuluvan ja/tai tyyppikilven tietoja. Tata varten
peravaunu on esitettava valtuutetuille viranomaisille rekisteriotteen korjaamista varten; tamén
jalkeen katsastusviranomaiset tekevét rekisteriotteen korjauksen.

Nama asennusohjeet tulee liittdd ajoneuvon dokumentteihin.

21



D

Installation and Operating Instructions
Towing bracket

Westfalia Order No.: 313 154
Type: 313 140 Version C
EC Approval No. as per Directive 94/20/EC: €13 00-0428

Application:

Mercedes-Benz: 408 (D) - 415 (D); (Sprinter from 1995)

and VW LT 35...46; (VW LT2)

Box-type truck and bus with wheelbase 3550 mm, 4,6t permissible total weight
EC Authorised Designation:

Mercedes-Benz: Model C, D, G, H, 904.

and VW: 2DX0OAZ

Technical Data:

The tested D-value is 17,82 kN. This corresponds, for example, to a towed weight of 3000 kg and
a gross vehicle weight of 4600 kg. The information contained in the vehicle title document/
registration certificate is definitive. The tested D value must not be exceeded. The permissible nose
weight must not exceed 120 Kkg.

A towing hitch or a shackle-type towing device may be mounted on the trailer bracket. During
installation of the shackle-type towing device, the clearance dimensions specified in Annex 1 ofthe
accident prevention regulations "Vehicles” (VGB 12) must be observed.

The trailer bracket must be used only for towing trailers with an appropriate towing bracket. If
installation of the trailer bracket means that the towing eye has to be removed, the trailer
bracket serves as a substitute, provided that the permissible trailer load is not exceeded and
the trailer is to be towed on normal roads.

Note 1: The trailer bracket is a safety component and must only be mounted by qualified
personnel. If spare parts are required, these too must only be installed by qualified
personnel onthe undamaged original component. Any alteration or conversiontothe
trailer bracketisimpermissible. Moreover, such alteration or conversion would result
in cancellation of type approval.

Note 2: Remove insulating compound and underseal from vehicle - if applicable - in area of
contact surface of trailer bracket. Coat bare areas of bodywork with anti-corrosion
paint.

Note 3: When driving with a trailer, follow the instructions in the vehicle manufacturer’s

Owner’s Manual.
22



Type: 313 140 Version C

Note 4: The following components are optional for this trailer bracket:

1.) Ball plate, model 329 061 / 329 062

2.) Shackle-type towing device, model 243 U 115 EL
Ball plate and automatic shackle-type towing device can also be mounted in
conjunction with a towing device quick-change system.

3.) Step (also) at “d”

Scope of delivery of trailer bracket:

[tem
1
2/3

O©oo~NO O~

10
11
12
13
14
15
16

Designation Number
Trailer bracket

Support

Spacer pipe

U-profile

Hexagon bolt M12x1,5x100, strength class 10.9
Hexagon bolt M10x90, strength class 10.9
Hexagon bolt M10x35, strength class 10.9
Hexagon bolt M10x30, strength class 10.9
Collar nut M10, strength class 10

Hexagon nut M10, strength class 10

Hexagon nut M12x1,5, strength class 10
Washer 13x24x2,5

Installationinstructions

Washer 10,5x25x4

Washer 10,5x21x2

ADDPFRPOCORANEARADONDIDENE

Available spare parts for trailer bracket

Spare part no. Designation

913 154 650 001 Pack of mounting parts (items 4, 6-16)
913 154 617 001 Pack of U-profile (items 5)

913 154 619 001 Pack of Support (items 2, 3)

Installation Instructions:

1)

2)

3)

4.)

5.)

Unscrew towing eye. Towing eye is not needed. Remove spare wheel from holder.
Detach/remove exhaust system as necessatry.

Hold towing hitch1 and supports 2/3 under vehicle and align at “a” with the existing
bores on the vehicle. Insert hexagon bolts M12 at “a” and tighten loosely with washers and
hexagonnuts.

Fit U-profiles 5 on vehicle frame side members and tighten loosely at “c” with hexagon bolts
M10 and washers. Locate U-profiles 5 (dimension: 28 mm). Transfer bores “b” of
U-profiles 5 to vehicle frame side members. Unscrew U-profiles 5.

Drill vehicle frame side members at “b” (see section A-A)
a) Inner strut 18.5 mm dia.

b) Outer strut 10.5 mm dia.

Deburr bores.

Screw on U-profiles 5 at “c”. Insert hexagon bolts M10 with washers and spacers 4 at “b”
and tighten with securing nuts M10.

23



Type: 313 140 Version C

6.) Align trailer bracket and tighten hexagon bolts and nuts.

7.) Screw ball plate at’f’ with hexagon bolts M10x35 and collar nuts M10 and at ’e” with hexagon
bolts M10x35 to trailer bracket 1.

8.) Use bolts M12/nuts M12 of strength class 10.
Use bolts M10/nuts M10 of strength class 10.

Tightening torques:
Bolts M12 - strength class 10.9 [C93Nm +5%
Bolts M10 - strength class 10.9 CRAINmM +5%

The standard fixing points on the vehicle specified by the vehicle manufacturer and approved in
the General Certification must be observed.

Electrical system in compliance with German StVZO (Motor Vehicle Safety Standards).
Ensure that the installation dimensions and clearances as per DIN 74 058 are observed.
Special attention is drawn to the fact that, in the case of subsequent installation, the vehicle
owner must apply to the authorities (vehicle registration office) for type approval for the

vehicle, presenting the certificate proving that the state of the vehicle complies with
regulations.

This trailer bracket, including all installation components, weights approx. 18.5 kg. Please take
into consideration that the unladen weight of your vehicle will increase by this amount after the
trailer bracket has been fitted.

Note:

When installing this towing hitch to avehicle registered in Switzerland:

The enclosed trailer load sticker must be affixed to the towing hitch so that is clearly visible. This
information on trailer load refers to the towing hitch; the trailer load permissible for the vehicle must
be taken from the vehicle papers.

What you must take into consideration when using towing vehicle and trailer:

The new EU regulations prescribe that new vehicles and vehicles already in use should be
equipped with an EU control unit, if the vehicle serves purposes, for example, of goods
transportation, and if the total permissible weight of vehicle and trailer exceeds 3,5t.

The following are exempted from this regulation:

- Vehicles used for passenger transportation and which, for reasons of design and
eguipment, are suitable and intended to transport up to 9 persons, including the driver.

- Vehicles used for goods transportation and of which the permissible total weight,
including trailer, does not exceed 3,5 t.

- Vehicles used for non-commercial transportation of goods for exclusively private

purposes, e.g. transporting domestic articles, hobby and sports equipment (caravan,
boat and horse trailers).

24



Type: 313 140 Version C

IMPORTANT:

For boat rental businesses, horse dealers etc., towing a boat or horse trailer constitutes
commercial goods transportation within the framework of the business activity.

The decisive factor is therefore the concrete purpose of the journey. It may be necessary to
prove that transportation is for non-commercial purposes.

Furthermore, the responsible national authorities may grant exemption upon application for:

- Vehicles used within 50 km of the vehicle’s registration address (Including districts of which
the centre is located within this area) for transporting material or equipment needed by the
driver in his work or business (the precondition is that driving the vehicle is not the driver’'s
main activity), or vehicles used for transporting goods of agricultural, horticultural, forestry
or fishery businesses.

- Vehicles used for transporting animal waste or animal carcasses not intended for human
consumption.

- Vehicles used for transporting living animals from farms to local markets and back, or from
markets to the local abattoirs.

- Private transportation of horses in licence-free sport trailers is exempted from the stated
EU regulation.

- Vehicles used as sales vehicles atlocal markets or for itinerant sales, for lending books and
records or for travelling exhibitions and which are specially equipped for these purposes.

If, however, you want to use a vehicle with trailer for commercial transportation of goods, we
advise you not to exceed the permissible total weight of the vehicle including trailer of 3,5 t by
selecting a light trailer. Furthermore, there is the possibility of reducing the permissible total
weight of an existing trailer without constructional measures, i.e. of altering this information in
the trailer certificate and/or on the type label. For this purpose, the trailer must be examined
by an officially approved expert from the TUV/TUH to correct the vehicle title document; the
registration certificate will then be corrected at the vehicle registration office (Road Traffic
Licensing Department).

These installation instructions must be added to the vehicle papers.

25



Istruzioni di montaggio e d'uso per la
sfera del gancio di traino con supporto

codice Westfalia : 313 154
Tipo: 313 140 vers. C
Marchio di omologazione CE secondo la normativa 90/4/20/CE: el13 00-0428

Campod’impiego:

Mercedes-Benz: 408 (D) - 415 (D); (Sprinter dal 1995)

e Volkswagen LT 35...46; (VW LT2)

Furgone e bus con distanza interassiale di 3550 mm, peso complessivo legale 4,6t
Denominazione ufficiale del tipo secondo I'omologazione dei tipi CE:
Mercedes-Benz: tipo C, D, G, H, 904.

e Volkswagen: 2DXOAZ

Dati tecnici :

Il valore D controllato é pari 17,82 kN, che corrisponde ad esempio ad un peso rimorchiabile di
3000 kg e ad un peso totale ammesso di 4600 kg. Sono comunque valide le indicazioni del libretto
dicircolazione/foglio complementare del veicolo. Non sideve superare il valore D collaudato. Non
superare il carico di appoggio massimo consentito di 120 kg.

Sul supporto del rimorchio € consentito montare un gancio di traino o un gancio con perno. Per il
montaggio del giunto con perno sidevono rispettare le dimensionidiluce libera secondo I'allegato
1 della norma antinfortunistica ,veicoli“ (VGB 12).

Il supporto del rimorchio deve essere usato soltanto per il traino di rimorchi con un adeguato
giunto di traino. Se il montaggio del supporto del rimorchio richiede la rimozione dell'occhiello
di traino, quest’ultimo viene sostituito dal supporto del rimorchio stesso, a condizione che non
venga superato il peso massimo trainabile e che il rimorchio avvenga su una normale strada.

Avvertenza 1: Il supporto del rimorchio € un componente di sicurezza e deve essere montato
solo datecnici specializzati. Anche gli eventuali pezzi di ricambio devono essere
montati solo datecnici specializzati suicomponenti originali in perfette condizioni.
E’ vietata qualsiasi modifica o cambiamento del supporto del rimorchio.

Cio comporterebbe l'invalidamento dell’omologazione.

Avvertenza 2: Togliere, nella zona della superficie di appoggio del supporto del rimorchio sul
veicolo, il materiale isolante o la protezione sottoscocca se esistente.
Trattare le parti sverniciate della carrozzeria con antiruggine.

Avvertenza 3: Perilfunzionamento conrimorchio sidevonorispettare le avvertenze perlaguida
riportate nel libretto di istruzioni del produttore del veicolo.

26



Tipo: 313 140 vers. C

Avvertenza 4: Su questo supporto del rimorchio si possono montare come opzione i seguenti

componenti:

1.) Piastra sferica tipo: 329 061 / 329 062

2.) Giunto con perno tipo: 243 U 115 EL
La piastra sfericaed il giunto con perno automatico possono essere montati
anche insieme ad un sistema rapido di sostituzione giunto.

3.) Pedana ed altro nei punti ,d*

Dotazione del supporto del rimorchio:

Pos.

1
2/3

©O©oo~NO O~

10
11
12
13
14
15
16

Denominazione Quantita
Supporto del rimorchio

Sostegno

Tubo distanziatore

Profiloa U

Vite a testa esagonale M12x1,5x100, classe di rigidita 10.9
Vite a testa esagonale M10x90, classe di rigidita 10.9

Vite a testa esagonale M10x35, classe di rigidita 10.9

Vite a testa esagonale M10x30, classe di rigidita 10.9
Dado con spallamento M10, classe di rigidita 10

Dado esagonale M10, classe di rigidita 10

Dado esagonale M12x1,5, classe di rigidita 10

Rondella 13x24x2,5

Istruzioni dimontaggio

Rondella 10,5x25x4

Rondella10,5x21x2

APRARPRPOOMANPEDMPONDNE

Pezzi di ricambio disponibili per il supporto del rimorchio
N. pezzo diricambio Denominazione

913 154 650 001 VPE componenti di fissaggio (pos. 4, 6 -16)
913 154 617 001 VPE Profilo a U (pos. 5)
913 154 619 001 VPE Sostegno (pos. 2, 3)

Istruzioni di montaggio :

1)

2)

3)

4)

5.)

Svitare I'occhiello di traino che viene eliminato. Togliere la ruota di scorta dal relativo
supporto. Se necessario sganciare/smontare I'impianto gas di scarico.

Posizionare il gancio di traino 1 ed i sostegni 2/3 sotto il veicolo e far combaciare nei
punti ,a“ con i fori esistenti dal lato veicolo. Inserire le viti a testa esagonale M12 neli
punti ,a“ ed avvitare leggermente con le rondelle ed i dadi esagonali.

Infilare i profili a U 5 sui longheroni del veicolo ed avvitare leggermente nei punti ,c* con le
viti a testa esagonale M10 e le rondelle. Fissare i profili a U 5 (rispettare la dimensione di
28 mm). Riportare i fori ,b* dei profili a U 5 sui longheroni del veicolo. Svitare i profilia U 5.

Forare i longheroni del veicolo nei ,b* (vedere la sezione A-A)
a) Ponticello interno g18,5mm

b) Ponticello esterno g10,5mm

Sbavare i fori.

Avvitare i profilia U 5 nei punti ,c“. Inserire le viti a testa esagonale M10 con le rondelle ed
i distanziatori 4 nei punti ,b* ed avvitare con i dadi di bloccaggio M10.

27



Tipo: 313 140 vers. C

6.) Allineare il supporto del rimorchio e serrare le viti a testa esagonale ed i dadi esagonali.

7.) Avvitare al supporto del rimorchio 1 la piastra sferica, usando nei punti .f“ le viti a testa
esagonale M10x35 ed i dadi con spallamento M10 e nei punti ,.e” le viti a testa esagonale
M10x35.

8.) Vengono usati viti M12 e dadi M12 della classe di rigidita 10.
Vengono usati viti M10 e dadi M10 della classe di rigidita 10.

Coppie di serraggio:
Viti M12 - classe di rigidita 10.9 [C—195 Nm +5%
Viti M10 - classe di rigidita 10.9 [C—155 Nm +5%

Sono stati rispettati i punti di fissaggio del veicolo indicati di serie dal produttore ed omologati
dal Ministero dei Trasporti.

L'impianto elettrico € conforme alle norme riguardanti 'ammissione alla circolazione dei veicoli
(StvZO).

Sono state rispettate le dimensioni di montaggio e di luce libera secondo DIN 74 058.
Sirichiama ['attenzione sul fatto che in caso di montaggio a posteriori, il proprietario del
veicolo é obbligato di richiedere il rinnovo del’'omologazione per il veicolo stesso presso I'Ente
competente (ufficio di immatricolazione), presentando una perizia attestante le condizioni
regolari del veicolo.

Il supporto del rimorchio, compresi tutti i componenti di montaggio, ha un peso di circa

18,5 kg. Si deve tener presente che dopo il montaggio del supporto del rimorchio il peso a
vuoto del veicolo aumenta corrispettivamente.

Avvertenza:

In caso di montaggio del gancio di traino su un veicolo immatricolato in Svizzera:
L'adesivo allegato con il peso trainabile deve essere incollato in un punto ben visibile sul gancio
di traino. Il peso trainabile indicato e riferito al gancio di traino, mentre quello consentito per il
veicolo e riportato nei documenti del veicolo stesso.

Norme darispettare per I'uso commerciale di motrici con rimorchio:

Le nuove norme sociali CE prescrivono per i nuovi veicoli e per quelli gia in circolazione
I’equipaggiamento conundispositivo di controllo CE, nei casiin cuiil veicolo viene usato, per
esempio, per il trasporto merci ed a condizione che la somma del peso complessivo legale del
veicolo e del rimorchio sia superiore a 3,5 t.

Questa norma non viene applicata per i seguenti veicoli:

- Veicoli destinati al trasporto di persone ed adatti, secondo il tipo costruttivo e
I'equipaggiamento, al trasporto di max 9 persone incluso il conducente.

- Veicoli destinati al trasporto merci con un peso complessivo legale, incluso il
rimorchio, inferiore a 3,5 t.

- Veicoli destinati al trasporto merci non commerciale per scopi esclusivamente

privati, per esempio trasporti casalinghi o hobby e sport (roulotte, rimorchi per
barche e cavalli).

28



Tipo: 313 140 vers. C

IMPORTANTE:

Per i noleggiatori di barche, i commercianti di cavalli ecc., I'uso per affari di un rimorchio per
barche o cavalli viene considerato un trasporto merci commerciale.

E’ quindi decisivo lo scopo concreto del viaggio. Il trasporto non commerciale deve essere
eventualmente attestato.

Gli Enti regionali competenti possono, inoltre, concedere eccezioni su richiesta per i
seguenti veicoli:

- Veicoli usati in un raggio di 50 km dall’'ubicazione normale del veicolo stesso (incluso il
territorio dei comuni il cui centro si trovi all'interno del suddetto raggio) per il trasporto di
materiali o equipaggiamenti che servono al conducente per I'esercizio della propria
professione (a condizione che la guida del veicolo non sia I'attivita principale del
conducente), oppure usati per il trasporto di merci di aziende agricole e forestali, vivai e
pescatori.

- Veicoli per il trasporto di escrementi di animali, o di carcasse di animali non destinati
all'alimentazione umana.

- Veicoli per il trasporto di animali vivi dalle aziende agricole ai mercati locali e viceversa,
oppure dai mercati ai macelli locali.

- Periltrasporto privato di cavalli in rimorchi che non richiedono 'omologazione, la suddetta
norma CE non viene applicata.

- Veicoliusati per lavendita su mercatilocali o per lavendita ambulante, peril noleggio dilibri
e dischi, o per le esposizioni itineranti, attrezzati adeguatamente ai suddetti scopi.

Se si desidera comunque usare un’autovettura con rimorchio per il trasporto merci
commerciale, si consiglia di scegliere un rimorchio di peso ridotto, in modo tale da non
superare il peso complessivo legale del veicolo con rimorchio di 3,5 t. Esiste inoltre la
possibilita di ridurre il peso complessivo legale del rimorchio senza interventi costruttivi,
modificando la relativa indicazione nel libretto del rimorchio stesso e/o sulla targhetta. Atal fine
il imorchio deve essere presentato ad un perito del’Ente di sorveglianza tecnica (TUV/TUH)
legalmente riconosciuto, il quale deve correggere la registrazione nel foglio complementare. I
libretto di circolazione deve essere corretto successivamente dall’'ufficio di immatricolazione.

Le presenti istruzioni di montaggio deve essere allegate ai documenti del veicolo.

29



Monterings- og driftsveiledning

Tilnengerfeste

Westfalia-bestillingsnr.: 313 154
Type: 313 140 utf. C
EU-godkjenning (i hht. 94/20/EF): €13 00-0428
Anvendelse:

Mercedes-Benz: 408 (D) - 415 (D); (Sprinter fra 1995)

og VW LT 35...46; (VW LT2)

Kassebil og buss med hjulavstand 3550 mm, 4,6 tonn tillatt totalvekt
Typebetegnelse i hht. EU-typegodkjenning:

Mercedes-Benz; type C, D, G, H, 904.

og VW: 2DX0OAZ

Tekniske spesifikasjoner:

Den testede D-verdien er 17,82 kN. Dette tilsvarer for eksempel en tilhengerlast pa 3000 kg og
en tillatt totalvekt pa 4600 kg. Oppgavene i vognkortet gjelder. Den prgvete D-verdien ma ikke
overskrides. Tillatt stattelast ma ikke overskride 120 kg.

Pa tilhengerbukken kan det monteres et tilhengerfeste eller en boltkopling. Nar boltkoplingen
monteres skal malene for fritt rom i henhold til bilag 1 i ulykkesforebyggende forskrift ,Kjaretay”
(VGB 12) overholdes.

Tilhengerbukken ma kun brukes til & trekke tilhengere med tilsvarende trekkulekopling. Hvis
slepelgkken ma fiernes nar tilhengerbukken monteres, tiener tilhengerbukken som erstatning
for denne, hvis tillatt hengerlast ikke blir overskredet og borttauingen skjer pa vanlig trafikkerte
veier.

Henvisning 1: Tilhengerbukker er en sikkerhetsdel og ma kun monteres av fagfolk. Hvis det er
ngdvendig med reservedeler ma disse ogsa kun monteres av fagfolk pa en
uskadet original del.

Enhver endring hhv. ombygging av tilhengerbukken er forbudt.
Dette forer dessuten til at driftstillatelsen bortfaller.

Henvisning 2: Isolermasse hhv. understellbeskyttelse pa bilen - hvis det finnes - i
omradet for anleggsflaten pa anhengerbukken skal fiernes.
Blanke karosserideler skal males med rustbeskyttelsesmaling.

Henvisning 3: Falgkjgrehenvisningeneibilprodusentens instruksjonsbok for kjgring med
tilhenger.

30



Type: 313 140 utf. C

Henvisning 4. Fglgende deler kan etter valg monteres pa denne tilhengerbukken:

1.) Kuleplate type: 329 061 / 329 062

2.) Boltkopling type: 243 U 115 EL
Kuleplate og automatisk boltkopling kan ogsa monteres i forbindelse med
et hurtigskiftesystem for koplingen.

3.) Stigtrinn osv. ved "d"

Leveringsomfang for tilhengerbukken:

Pos.

1
2/3

O©oo~NO O~

10
11
12
13
14
15
16

Betegnelse Antall
Tilhengerbukk

Statte

Avstandsrar

U-profil

Sekskantskrue M12x1,5x100, fasthetsklasse 10.9
Sekskantskrue M10x90, fasthetsklasse 10.9
Sekskantskrue M10x35, fasthetsklasse 10.9
Sekskantskrue M10x30, fasthetsklasse 10.9
Brystningsmutter M10, fasthetsklasse 10
Sekskantmutter M10, fasthetsklasse 10
Sekskantmutter M12x1,5, fasthetsklasse 10
Skive 13x24x2,5

Montasjeanvisning

Skive 10,5x25x4

Skive 10,5x21x2

APRARRPOORANPEARAPMONIENE

Reservedeler til tilhengerbukken

Reservedels-nr.. Betegnelse

913 154 650 001 VPE-festedeler (pos. 4, 6-16)
913154 617 001 VPE-U-profil (pos. 5)
913154 619 001 VPE-Stgtte (pos. 2)

Monteringsveiledning:

1)

2)

3)

4.)

5.)

Skru av slepelgkken. Slepelgkken bortfaller. Tareservehjuletutav holderen. Demonter/heng
ut eksosanlegget sa langt dette er ngdvendig.

Hold tilhengerbukk 1 og stgttene 2/3 under kjgretgyet og slik at de dekkes ved "a" av
borehullene pa kjgretayet. Sett inn sekskantskruer M12 ved "a" og skru lgst fast med skiver
og sekskantmuttere.

Skyv U-profiler 5 pa bilens langsgaende vanger og skru Igs fast ved "¢" med sekskantskruer
M10 og tilhagrende skiver. Fest U-profiler 5 (overhold mal: 28mm). Overfgr borehullene "b"
pa U-profilene 5 til de langsgaende vangene pa bilen. Skru lgs U-profiler 5.

Bor hull i bilens vanger ved "b" (se profil A-A)
a) Innerkant 18,5mm

b) Ytterkant 10,5mm

Avgradborehullene.

Skru fast U-profiler 5 ved "c". Sett inn sekskantskruer M10 med skiver og avstandsstykker
4 ved "b" og skru fast med sikringsmuttere M10.

31



Type: 313 140 utf. C

6.) Rettopp tilhengerbukken og trekk til sekskantskruene/sekskantmutrene

7.) Skru kuleplaten ved ,f* med sekskantskruer M10x35 og brystningsmutre M10 og ved ,e“
med sekskantskruer M10x35 pa tilhengerbukk 1.

8.) Bruk skruer M12 / mutre M12 i fasthetsklasse 10
Bruk skruer M10 / mutre M10 i fasthetsklasse 10

Tiltrekkingsmomenter:

Skruer M12 - fasthetsklasse 10.9 [C99NmM +5%
Skruer M10 - fasthetsklasse 10.9 CRAINmM +5%

De festepunktene pa bilen som er oppgitt av bilprodusenten som standard og godkjent i
driftstillatelsen er overholdt.

Elektrisk anlegg i henhold til StVZO (tysk veitrafikk-registrerings-forordning).
Monteringsmal og friromsmal i henhold til DIN 74 058 er overholdit.

De henvises seerlig til at bileieren ved senere montasje ma sgke om fornyelse av
driftstillatelsen for bilen hos vedkommende biltiisynsmyndighet idet en attest over bilens
forskiftsmessige tilstand fremlegges.

Denne tilhengerbukken inklusive alle montasjedeler veier ca. 18,5 kg. Vennligst ta hensyn til at
bilens tomvekt gker tilsvarende etter montering av tilhengerbukken.

Henvisning:

Hvis dette tilhengerfestet monteres pa et kjgretgy som er registrert i Sveits:

Vedlagte kliste-etikett for tilhengerlast skal festes godt synlig pa tilhengerfestet. Denne oppgaven
om tilhengerlasten gjelder for tilhengerfestet, tillatt tilhengerlast for bilen er oppfart i bilens papirer.

Hva du skal merke deq ved yrkesmessiq bruk av trekkvogn og tilhenger:

De nye EF-sosialforskriftene foreskriver for nye biler og biler som allerede er i bruk i trafikken at
de utstyres med et EF-kontrollapparat, hvis bilen f.eks. brukes til godstransport og hvis summen
av tillatt total vekt for bil og tilhenger er over 3,51.

Unntatt fra denne forskriften er:

- Biler som brukes til persontransport og som etter sin konstruksjon og utstyr er egnet og
bestemt til & transportere 9 personer inklusive farer.

- Biler som brukes til godstransport og som har en tillatt total vekt inklusive tilhenger pa
ikke over 3,5t.

- Biler som brukes til ikke-yrkesmessig godstransport for utelukkende private formal,

f.eks. transporter angaende hjemmet, og for hobby og sport (bo-, bat- og
hestetilhenger).

32



Type: 313 140 utf. C

VIKTIG:

For utleiere av bater, hestehandlere osv. er kjgring med bat- eller hestetilhenger i rammen av
forretningsdriften en yrkesmessig godstransport.

Kjgringens konkrete formal gjelder. Den ikke yrkesmessige transporten ma ev. kunne pavises.
Dessuten kan de kompetente nasjonale myndighetene etter sgknad gi unntak for:

- Biler somien omkrets pa 50 km fra standplassen for bilen (inklusive omrader i kommuner
der sentrum ligger innenfor denne omkretsen) brukes til transport av materiale eller utstyr
som fgreren trenger til utgvelse av sitt yrke (forutsatt at kjgring av bilen ikke er
hovedbeskjeftigelse for fareren) eller som brukes til transport av produkter fra
jordbruks-, gartneri-, skogbruks- eller fiskeribedrifter.

- Biler som brukes til transport av animalsk avfall eller av dyrekropper som ikke er bestemt
for menneskelig konsumering.

- Bilersombrukestiltransportav levende dyr fralandbruksbedrifter til lokale torg og omvendt
eller fra torg til lokale slakterier.

- Privat transport av ridehester i registreringsfrie sportstilhengere er unntatt fra nevnte EF-
forskrift.

- Biler som brukes til salgsbiler pa lokale torg eller for vandrende salg, for utleie av bgker,
musikkplater eller for vandreutstillinger og som blir spesielt utstyrt for disse formal.

Hvis du likevel vil bruke en personbil med tilhenger til yrkesmessig godstransport, rader vi deg
til ikke a overskride den tillatte totalvekten for en bil inklusive tilhenger pa 3, 5t ved & velge en
lett tilhenger. Det er dessuten mulig a redusere den tillatte totale vekten pa en eksisterende
tilhenger uten konstruksjonsendringer, dvs. uten a endre denne oppgaven i tilhengerkortet og/
eller pa typeskiltet. Da ma tilhengeren vises frem til en bilsakkyndig for a fa korrigert
vognkortet.

Denne montasjeanvisningen skal vedlegges bilpapirene.

33



Montagehandleiding
Trekhaakbalk

Westfalia-bestelnr.: 313154
Type: 313 140 uitv. C
EG-goedkeuringsnr. volgens richtlijn 94/20/EG:  e13 00-0428

Model:

Mercedes-Benz: 408 (D) - 415 (D); (Sprinter v.a. 1995)

en VW LT 35...46; (VW LT2)

Gesloten bestelwagen en bus met wielbasis 3550 mm en 4,6 ton toegestaan totaal gewicht

Typeaanduiding volgens EG-goedkeuringsnr.:
Mercedes-Benz: Type C, D, G, H, 904.
en VW: 2DX0OAZ

Technische gegevens:

De geteste D-waarde bedraagt 17,82 kN. Deze waarde komt bijvoorbeeld overeen met een
aanhangergewicht van 3000 kg en een toelaatbaar totaalgewicht van 4600 kg. Maatgevend
zijn echter de gegevens die op het kentekenbewijs van het voertuig zijn vermeld. De geteste
D-waarde mag niet worden overschreden. De kogeldruk mag niet meer zijn dan 120 kg.

Op de trekhaakbalk mag een kogelstang of een penkoppeling worden gemonteerd. Voor een
veilige bediening van penkoppelingen moet er voldoende vrije ruimte tussen de bedienings-
hefboom en andere voertuigdelen zijn.

De trekhaakbalk mag alleen gebruikt worden voor het trekken van aanhangers met een daar-
voor geschikte trekhaakkoppeling. Wanneer het sleepoog vanwege de montage van de trek-
haak moet worden verwijderd, dan mag de trekhaak als zodanig worden gebruikt, voorzover
de toelaatbare treklast niet wordt overschreden en het slepen plaatsvindt op verharde wegen,
geschikt voor normaal verkeer.

Opmerking 1: De trekhaak mag alleen door deskundig personeel worden gemonteerd, zodat
de veiligheid gewaarborgd blijft. Indien er later reserveonderdelen nodig zijn,
mogen ook deze alleen worden gemonteerd door deskundig personeel aan
het originele, maar onbeschadigde onderdeel. Enige verandering resp. recon
structie aan de trekhaak is niet toegestaan. Dit leidt bovendien tot het verval
len van de wettelijke goedkeuring.

Opmerking 2: Verwijder isolatiemateriaal resp. roestwerende laag aan de onderzijde van de
wagen - indien aangebracht - op die plaatsen waar de trekhaakbalk gemon
teerd wordt. Behandel blanke metalen delen van de carrosserie met een
roestwerende verf.

Opmerking 3: Tijdens het rijden met een aanhanger moeten de voorschriften in de gebruiks
handleiding van de voertuigfabrikant worden opgevolgd.

34



Type: 313 140 uitv. C

Opmerking 4: Op deze trekhaakbalk kunnen de volgende onderdelen gemonteerd worden.
1.) Kogelplaat type: 329 061 / 329 062
2.) Penkoppeling type: 243 U 115 EL
De kogelplaat en automatische penkoppeling mogen ook in combinatie
met een snelkoppelsysteem worden gemondeerd.
3.) Opstap o.a. bij “d”

Leveringsomvang trekhaaksteun:

Pos.  Benaming Aantal
1 Trekhaaksteun

2/3 Steunen

Afstandspijpen

U-profiel

Zeskantbouten M 12 x 1,5 x 100, kwaliteit 10.9

Zeskantbouten M 10 x 90, kwaliteit 10.9

Zeskantbouten M 10 x 35, kwaliteit 10.9

Zeskantbouten M 10 x 30, kwaliteit 10.9

10 Flensmoeren M 10, kwaliteit 10

11 Zeskantmoeren M 10, kwaliteit 10

12 Zeskantmoeren M 12 x 1,5, kwaliteit 10

13 Onderlegringen 13 x24 x 2,5

14 Montagehandleiding

15 Onderlegringen 10,5 x25x 4

16 Onderlegringen 10,5 x21 x 2

O©oOo~NO 01~

ArRPFRPOOANPEAEADMNONIENE

Leverbare reservedelen t.b.v. trekhaaksteun
Onderdeelnr. Benaming

913 154 650 001 VPE bevestigingsdelen (pos. 4, 6 - 16)
913 154 617 001 VPE U-profiel (pos. 5)

913 154 619 001 VPE Steunen (pos. 2, 3)

Montagehandleiding:
1) Hetsleepoogdemonteren. Hetsleepoog vervalt. Het reservewiel uit de houder nemen. Het

uitlaatsysteem naar behoefte uithangen c.q. demonteren.

2.) De trekhaak 1 en de steunen 2/3 onder het voertuig houden en bij “a” op de bestaande
boringen aan het voertuig positioneren. Bij “a” zeskantbouten M 12 inzetten en met
onderlegringen en zeskantmoeren los-vast monteren.

3.) De U-profielen 5 op de langsliggers van het voertuig schuiven en bij “c” met zeskantbouten
M 10 en onderlegringen los-vast monteren. De U-profielen fixeren (let op maat 28 mm). De
boringen “b” van de U-profielen 5 op de langsliggers van het voertuig overbrengen. De
U-profielen 5 weer demonteren.

4.) Bij"“b” boringen in de voertuiglangsliggers aanbrengen (zie doorsnede A-A)
a) binnenlijf18,5mm
b) buitenlijf 210,5mm
Bohrungen entgraten.De boringen afbramen.

5.) De U-profielen 5 bij “c” monteren. Bij “b” zeskantbouten M 10 met onderlegringen en
afstandsstukken 4 inzetten en met borgmoeren M 10 monteren

35



Type: 313 140 uitv. C

6.) Detrekhaaksteun uitlijnen ende zeskantbouten/zeskantmoeren vastzetten.

7.) De kogelplaat bij “f" met zeskantbouten M 10 x 35 en flensmoeren M 10 en bij “€” met
zeskantbouten M 10 x 35 op de trekhaaksteun 1 monteren.

8.) Hiervoor dienen bouten M 12 / moeren M 12 van kwaliteit 10 te worden gebruikt.
Hiervoor dienen bouten M 10 / moeren M 10 van kwaliteit 10 te worden gebruikt.

Aanhaalkoppels:
bouten M 12 - kwaliteit 10.9 [C95INm + 5%
bouten M 10 - kwaliteit 10.9 [CR5INm + 5%

De door de fabrikant van het voertuig opgegeven en door de Rijksdienst voor het Wegverkeer
goedgekeurde bevestigingspunten van het voertuig zijn aangehouden.

Elektrische installatie volgens de voorschriften van de Rijksdienst voor het Wegverkeer.
De montage-afmetingen en speling zijn overeenkomstig DIN 74 058 gegarandeerd.

Bij voertuigen voorzien van een grijs kenteken dient in verband met het aanbrengen van de
trekhaak deze montagehandleiding bij de keuring van het voertuig ten behoeve van de aanvul-
ling/wijziging van het kentekenbewijs aan de met het onderzoek belaste ambtenaar van de
RDW ter inzage te worden overhandigd. Bij voertuigen voorzien van een geel kenteken dient
men het bij de trekhaak gevoegde formulier in te vullen.

Deze trekhaak weegt inclusief alle montage-onderdelen 18,5 kg. Wilt u er rekening mee hou-
den, dat het ledig gewicht van het voertuig na het monteren van de trekhaak met deze 18,5 kg
wordt verhoogd.

Opmerking:
Bij het monteren van deze trekhaak op een voor Zwitserland goedgekeurd voertuig:

De bijgevoegde sticker met het maximale aanhangergewicht moet op de trekhaakbalk op een
goed zichtbare plaats worden aangebracht. Deze opgave van het maximale aanhangergewicht
heeft betrekking op de trekhaakbalk. Het toelaatbare maximale aanhangergewicht van het
voertuig staat in de documenten die bij het voertuig horen.

Waar u bij zakelijk gebruik van het voertuig en aanhanger op moet letten:

De nieuwe EU-voorschriften schrijven voor nieuwe en reeds rijdende voertuigen voor, dat de
voertuigen moeten zijn uitgerust met een EU-controle-apparaat, als het voertuig bijvoorbeeld
gebruikt wordt voor goederentransport en als het toegestane totale gewicht van het voertuig
en de aanhanger meer dan 3,5 t bedraagt.

Van dit voorschrift zijn uitgezonderd:
- voertuigen, die voor personenvervoer dienen en die volgens hun constructie en uit
rusting geschikten  ervoor bestemd zijn, maximaal 9 personen - inclusief chauf
feur - te ver voeren.

- voertuigen, die voor goederenvervoer dienen en waarvan het toegestane maximale
ge wicht in-clusief aanhanger niet boven 3,5 t komt.

- voertuigen, die niet voor zakelijk goederenvervoer, maar alleen voor particuliere

doeleinden gebruikt worden, bijvoorbeeld particulier transport, alsmede voor hobby
en sport (caravans, boottrailers en paardentrailers).

36



Type: 313 140 uitv. C

BELANGRIJK:

Voor verhuurders van boten, paardenhandelaren enz. wordt het rijden met bijvoorbeeld een
boot- of paardentrailer voor de onderneming als zakelijk goederenvervoer gezien.

Maatgevend is dus het concrete doel van de rit. Het niet zakelijk vervoeren moet eventueel
worden aangetoond.

Bovendien kunnen de verantwoordelijke instanties van de kantons op verzoek ontheffing
verlenen voor:

- voertuigen, die binnen een straal van 50 km gezien vanaf de standplaats van het
voertuig (inclusief het gebied van gemeenten, waarvan het centrum binnen deze
straal ligt) voor het vervoeren van materiaal of gereedschappen worden gebruikt,
die de chauffeur bij het uitoe fenen van zijn beroep nodig heeft (voorwaarde is, dat
het besturen van het voertuig niet het beroep van de chauffeur is) of die door land
bouw-, tuinbouw- en bosbouwbedrijven of vis kwekerijen voor het vervoeren van
goederen wordt gebruikt.

- voertuigen, die voor het vervoeren van dierlijk afval of van niet voor menselijke con
sumptie bestemde kadavers dienen.

- voertuigen, die voor het vervoeren van levende dieren van landbouwbedrijven naar
de plaatselijke markten en omgekeerd of van de markten naar de plaatselijke abat
toirs worden gebruikt.

- Het genoemde EU-voorschrift heeft geen betrekking op het vervoeren van rijpaar
den door particulieren in trailers, die niet gekeurd hoeven te worden.

- voertuigen, die als verkoopwagen op plaatselijke markten of voor de ambulante ver
koop, voor het uitlenen van boeken, CD’s of voor tentoonstellingen voor wandelaars
worden ge-bruikt en voor deze doeleinden speciaal worden uitgerust.

Als u een voertuig met aanhanger toch voor zakelijk goederenvervoer wilt gebruiken, raden wij
u aan, door het kiezen van een lichtere aanhanger het toegestane maximale gewicht van het
voertuig inclusief aanhanger niet boven 3,5 t te laten komen. Er bestaat verder de mogelijk-
heid, het toegestane maximale gewicht van een reeds aangeschafte aanhanger zonder bouw-
kundige maatregelen te reduceren, d.w.z. deze opgave op het kentekenbewijs en/of op het
typeplaatje te wijzigen. Daartoe moet de aanhanger aan een bevoegde deskundige van de
TUV/TUH worden getoond, om het kentekenbewijs aan te passen. Vervolgens wordt het
kentekenbewijs bij het bureau voor de afgifte van kentekenbewijzen aangepast.

Deze montagehandleiding moet bij de autopapieren bewaard worden.

37



Monteringsanvisning
Dragkrok

Westfalia best.-nr: 313 154
Typ: 313 140 Utférande C
EG-godkannande enligt riktlinje 94/20/EG: el13 00-0428

Anvandningsomrade:

Mercedes-Benz: 408 (D) - 415 (D); (Sprinter fran och med 1995)
och VW LT 35...46; (VW LT2)
Skapvagn och buss med hjulavstand 3550 mm och totalvikt 4,6 ton

Officiell typbeteckning enligt EG-typgodkannande:

Mercedes Benz: Typ C, D, G, H, 904.
och VW: 2DXOAZ

Tekniska data:

Det kontrollerade D-vardet uppgar till 17,82 kN. Det motsvarar exempelvis en slapvagnslast pa
3000 kg och en tillaten totalvikt pa 4600 kg. Avgorande ar emellertid uppgifterna pa
fordonshandlingen/besiktningsinstrumentet. Det provade D-vardet far inte dverskridas. Den
tillatna stodlasten far inte 6verskrida 120 kg.

Pa slapvagnsbocken far man montera en dragkrok eller en bultkoppling. Vid montering av
bultkopplingen maste man folja spelrumsmattet enligt bilaga 1 "Fordon” (VGB 12) i
Arbetarskyddsforeskriften.

Slapvagnsbocken far endast anvandas for att dra slapvagnar med motsvarande
dragkulskoppling. Maste man ta bort bogseringsdglan vid monteringen av slapvagnsbocken,
fungerar slapvagnsbocken som erséttning for denna, savida den tillatna slapvagnslasten inte
overskrids och bogseringen sker pa allmanna vagar.

Anvisning 1l: Slapvagnsbocken &r en sékerhetskomponent och far endast monteras av
fackpersonal. Om reservdelar kravs, maste aven dessa monteras av
fackpersonal pa oskadad originaldel. Varje andring resp modifiering av
slapvagnsbocken ar inte tillatet. Detta leder till att drifttillstandet dras in.

Anvisning2: Tagbortisoleringsmassan resp underplatsbelaggningen fran slapvagnsbockens
anlaggningsyta, om det behovs.
Stryk pa rostskyddsfarg pa blanka karosseridelar.

Anvisning 3: Vidfard med slapvagn maste man folja hastighetsbestammelsernasom anges av
fordonstillverkaren.

38



Typ: 313 140 Utférande C

Anvisning4: Péadenna slapvagnsbock kan man montera féljande delar valfritt:
1.) Kulplatta typ: 329 061 / 329 062
2.) Bultkoppling typ: 243 U 115 EL
Kulplattan och den automatiska bultkopplingen far ocksa monteras i
kombination med dragkulans snabbytes-system.
3.) Fotsteg etc. vid "d"

Leveransens komponenter:

Pos.  Beteckning Antal
1 Slapvagnsbock 1
2/3 Stod 2
4 Distansror 4
5 U-profil 2
6 Sexkantskruv M12 x 1,5 x 100, hallfasthetsklass 10.9 8
7 Sexkantskruv M10 x 90, hallfasthetsklass 10.9 4
8 Sexkantskruv M10 x 35, hallfasthetsklass 10.9 4
9 Sexkantskruv M10 x 30, hallfasthetsklass 10.9 4
10 Flansmutter M10, hallfasthetsklass 10 2
11 Sexkantmutter M10, hallfasthetsklass 10 4
12 Sexkantmutter M12 x 1,5, hallfasthetsklass 10 8
13 Skruv 13x 24 x 2,5 8
14 Monteringsanvisning 1
15 Skruv 10,5x25x 4 4
16 Skruv 10,5x21x 2 4

Reservdelar som kan levereras till slapvagnsbocken
Reservdelsnr Beteckning

913 154 650 001 VPE-fastsattningsdelar (pos. 4, 6-16)

913 154 617 001  VPE-U-profil (pos. 5)

913 154 619001  VPE-Stod (pos. 2, 3)

Monteringsanvisning:
1) Skruvaavbogseringsoglan. Bogseringsoglan behévsinte langre. Tag utreservhjuletur
fastet. Haka av/demontera avgassystemet sa mycket som behovs.

2.) Halldragkrok 1 och stéttorna till 2/3 under bilen och sa att de tacks vid "a" av borrhalen pa
bilen. Sattin sexkantskruvar M12 vid "a" och skruva at 16st med skivor och sexkantsmuttrar.

3.) Skjut U-profil 5 bilens l&ngdriktning och skruva I6st fast vid "c" med
sexkantskruvar M10 med tillhérande skivor. Satt fast U-profilerna 5 (se till att 28 mm
overhang finns). Flytta 6ver "b"-borrningarna pa U-profil 5 i bilens langsgaende
riktning. Skruva loss U-profil 5.

4)) Borra hali bilens ramsidobalk vid "b" (se profil A-A)
a) Inre kant 18,5 mm
b) Yttre kant 10,5 mm
Ta bort graderna.

5.) Skruva fast U-profil 5 vid "c". Satt in sexkantskruvar M10 med skivor och distanshylsa 4 vid
"b" och dra at med sakerhetsmuttrar M10.

39



Typ: 313 140 Utférande C

6.) Riktaslapvagnsbocken och drag fast sexkantskruvarna och sexkantmuttrarna.

7.)  Skruva fast kulplattan vid "f” med sexkantmuttrarna M 10 x 35 och flansmuttrarna M10 och
vid "e” med sexkantskruvarna M10 x 35 pa slapvagnsbock 1.

8.) Anvand skruvar M12 och muttrar M12 i hallfasthetsklass 10.
Anvand skruvar M10 och muttrar M10 i hallfasthetsklass 10.

Atdragningsmoment:
Skruvar M12, hallfasthetsklass 10.9 939 Nm+5 %
Skruvar M10, hallfasthetsklass 10.9 Nm+5%

Standarden foljs betr tillatna fastsattningspunkter for fordonet som foreskrivs i ABE av
biltiliverkaren.

Elektrisk anlaggning enligt StvVZO.
Monteringsmatten och spelrumsmatten ar garanterade enligt DIN 74 058.

Vi vill speciellt papeka att fordonsagaren, vid pamontering i efterhand, maste ansoka om fornyat
drifttillstand hos resp ansvarig myndighet och darvid uppvisa intyget att fordonet ar i foreskrivet
skick.

Denna slapvagnsbock inkl alla monteringsdelar vager ca 18,5 kg. Beakta att bilens tomvikt okar
med motsvarande efter monteringen av slapvagnsbocken.

Anvisning:
Vid montering av denna dragkrok pa ett fordon som ar godkant i Schweiz:

Den bifogade sjalvhaftande etiketten for slapvagnslasten skall sattas fast pa dragkroken pa ett val
synligt stalle. Denna uppgift om slapvagnslasten hanfor sig till dragkroken. | fordonshandlingarna
anges den hogsta godkanda slapvagnslasten 6 fordonet.

Att observera vid yrkesmassig anvandning av dragfordon och slépvagn:

De nya EU-reglerna foreskriver utrustning med en EU-kontrollapparat for nya fordon och redan i
trafik befintliga, om bilen exempelvis anvands for godstransporter samt om den tillatna totalvikten
pa fordonet och slapvagnar 6verstiger 3,5 ton.

Undantag fran denna foreskrift ar:
- Fordon som anvands vid persontransporter och fordon som ar byggda och utrustade
for att transportera upp till 9 personer inkl foraren.

- Fordon som anvands vid godstransporter och vars tillatna totalvikt inkl slapvagn inte
Overstiger 3,5 ton.

- Fordon som inte anvands for yrkesmassiga godstransporter, utan som anvands

uteslutande for husbehov, exempelvis vid privata transporter, hobby och sport
(husvagnar, batvagnar och hasttransporter).

40



Typ: 313 140 Utférande C

VIKTIGT!

For batuthyrare, hasthandlare osv raknas det som yrkesmassig godstransport om man medfor
exempelvis bat- eller hasttransport i affarsmassigt syfte.

Avgorande ar alltsa det konkreta andamalet med resan. Man maste eventuellt kunna styrka att
det inte ror sig om yrkesmassig transport.

Darutodver kan resp ansvarig myndighet medge undantag for:

- Fordon som féraren behdver anvanda for att kunna utéva sitt yrke med att transportera
material eller utrustning inom en omkrets av 50 km fran fordonets hemvist (inkl kommun
omraden vars centrum ligger inom detta omrade). Forutsattningen ar att farden inte ar
fordonsforarens huvudsakliga sysselsattning, och att den inte utfors inom yrkesomraden
som jordbruk, tradgardsodling, skogsbruk eller fiske.

- Fordon som ar avsedda for transporter av djuravfall och sadana transporter av djurkroppar
som inte &r avsedda som manniskofoda.

- Fordon som transporterar levande djur fran jordbruksanlaggningar till lokala
marknadsplatser eller omvant, eller transporter av levande djur fran marknadsplatsernatill
lokala slakterier.

- Privata transporter av ridhastar i godkanda hasttransporter ar undantagna fran namnda
EU-foreskrift.

- Fordon som anvands som forsaljningsfordon pa lokala marknadsplatser eller for
ambulerande forsaljning, utlaning av bocker/video/CDs resp vandringsutstallningar och som
ar speciellt utrustade for dessa andamal.

Om man anda vill anvanda en personbil med slap for yrkesmassiga godstransporter,
rekommenderar vi att man valjer fordon med en latt slapvagn, dar totalvikten fér fordonet inkl
slapvagnen inte Overstiger 3,5 ton. Man kan aven sanka den tillatna totalvikten for en befintlig
slapvagn utan att beh6éva géra ombyggnader, dvs genom att andra dessa uppgifter i
slapvagnshandlingarna och/eller pa typskylten. For att kunna gora detta kravs det att
slapvagnen besiktigas av Bilprovningen, som kan intyga fordonshandlingarnas riktighet.
Darefter far man ett intyg till registreringsbeviset fran tillstandsutfardaren.

Dessa monteringsanvisningar skall bifogas till fordonshandlingarna.

41



Instrukcja montazu i eksploatacji haka
holowniczego z mocowaniem

Nr katalogowy firmy Westfalia: 313 154
Typ: 313 140 wersja C
Znak dopuszczenia na terenie EWG wedtug wytycznych 94/20/EG: €13 00-0428

Zastosowanie:
Mercedes-Benz: 408 (D) - 415 (D); (Sprinter od 1995 r.)

oraz VW LT 35 ... 46; (VW LT2)
Furgon oraz autobus z rozstawem kot 3550 mm, 4,6t dopuszczalnego ciezaru catkowitego

Urzedowe oznaczenie typu wg. rozporzadzen EWG:
Mercedes-Benz: typ C, D, G, H, 904.

oraz VW: 2DX0OAZ

Dane techniczne:

Sprawdzona warto$¢ D wynosi 17,82 kN. Wartos¢ ta odpowiada 3000 kg obcigzenia
przyczepowego oraz 1gcznemu dopuszczalnemu ciezarowi wynoszgcemu 4600 kg. Miarodajne
sg dane z dowodu rejestracyjnego / ksigzki samochodu. Sprawdzona warto$¢ D nie moze
zostac przekroczona. Dopuszczalne obcigzenie podparciowe nie moze przekroczy¢ 120 kg.

Do haka holowniczego moze zosta¢ zamontowane sprzegto kulowe z konstrukcjg mocujgcag,
lub tez sprzegto palcowe. Przy montazu sprzegta palcowego nalezy zachowac odpowiednie
wymiary wolnych przestrzeni okreslonych w zatgczniku 1 przepisbw o zapobieganiu
wypadkom “Pojazdy” (VGB 12).

Koziot holowniczy moze byc¢ stosowany tylko do ciggniecia przyczep wyposazonych w
odpowiednie pociggowe sprzegto kulowe. W przypadku, gdy zamontowanie kozta
holowniczego powoduje konieczno$¢ usuniecia uchwytu holowniczego, koziot stuzy jako
element zastepczy o ile nie zostanie przekroczone dopuszczalne obcigzenie przyczepowe
a holowanie odbywa sie po drogach przeznaczonych do komunikaciji.

Zalecenie 1: Koziot holowniczy stanowi element decydujgcy o bezpieczenstwie i z tego
wzgledu moze by¢ montowany wytgcznie przez personel specjalistyczny. W
przypadku koniecznosci zastosowania czesSci zamiennych réwniez one
powinny zosta¢ zamontowane przez personel specjalistyczny przy uzyciu
nieuszkodzonych elementow oryginalnych.

Wszelkie zmiany wzglednie przebudowy kozta holowniczego sg,
niedozwolone. Poza tym, prowadzg one do wygasniecia dopuszczenia do
eksploataciji.

Zalecenie 2: Jesliwobszarze przylegania kozta holowniczego wystepuje masa izolacyjna,
wzglednie warstwa ochronna podwozia samochodu, nalezy je usungc.
Niepowleczone lakierem miejsca karoserii nalezy pomalowac farbg,
chronigcg je przed korozjg.

Zalecenie 3: W czasiejazdy nalezy przestrzegac zalecen zawartych w instrukciji eksploatacii
samochodu dostarczonej przez producenta.

42



Typ: 313 140 wersja C

Zalecenie 4: W zaleznosci od wyboru do niniejszego kozta holowniczego mozna

przymocowac nastepujgce elementy:

1.)Ptyta kulowa, typ: 329 061 / 329 062

2.)Sprzegto palcowe, typ: 243 U 115 EL
Ptyta kulowa oraz samoczynne sprzegto palcowe mogg zostac
zamontowane rowniez w potgczeniu z systemem do szybkiej zmiany
sprzezenia.

3.)Stopnica miedzy innymi w punkcie ,,d”

Zakres dostawy kozta holowniczego:

Poz. Nazwa Liczba
1 Koziot holowniczy 1
2/3 Wspornik 2
4 Rurka dystansujgca 4
5 Ceownik 2
6 Sruba z tbem szesciokatnym M12x1,5x100, klasa wytrzymatosci 10.9 8
7 Sruba z tbem szesciokatnym M10x90, klasa wytrzymatosci 10.9 4
8 Sruba z tbem szesciokatnym M10x35, klasa wytrzymatosci 10.9 4
9 Sruba z tbem szesciokgtnym M10x30, klasa wytrzymatosci 10.9 4
10 Nakretka z kotnierzem M10, klasa wytrzymatosci 10 2
11 Nakretka szesciokgtna M10, klasa wytrzymatosci 10 4
12 Nakretka szesciokgtna M12x1,5, klasa wytrzymatosci 10 8
13 Podktadka 13x24x2,5 8
14 Instrukcja montazu 1
15 Podktadka 10,5x25x4 4
16 Podktadka 10,5x21x2 4

Zakres dostarczanych czesci zamiennych kozta holowniczego
Nr czesci zamiennej Nazwa

913 154 650 001 VPE - elementy mocujgce (poz. 4, 6 — 16)

913 154 617 001 VPE - Ceownik (poz. 5)

913 154 619 001 VPE - Wspornik (poz. 2, 3)

Instrukcja montazu:

1.) Odkreci¢ uchwyt holowniczy. Uchwyt ten nie bedzie juz potrzebny. Wyjg¢ koto zapasowe
z uchwytu. Zdjgc z zawieszenia / zdementowac instalacje wydechowg w stopniu
umozliwiajgcym przeprowadzenie dalszych prac.

2.) Przytrzymac koziot holowniczy 1 oraz wsporniki 2/3 pod samochodem i ustawi¢ w taki
sposob, aby otwory w punktach ,a“ pokrywaty sie z otworami wykonanymi w konstrukcji
samochodu. Wtozy¢ sruby z tbem szesciokgtnym M12 w punktach ,a“ i przykrecic¢ luzno
za pomocg nakretek szesciokgtnych wraz z podktadkami.

3.) Nasuna¢ ceowniki5 nadzwigary podtuzne samochoduiluzno przykreci¢ w punktach ,,c*
za pomocg $rub z tbem szesciokgtnym M10 oraz podktadek. Ustali¢ potozenie
ceownikow 5 (uwzgledni¢ wymiar: 28mm). Przenie$¢ otwory ,b“ z ceownikéw 5 na
dzwigary podtuzne samochodu. Odkreci¢ ceowniki 5.

4.) Wywierci¢ otwory w punktach ,b“ dzwigaréw podtuznych samochodu (patrz przekroj A-A)
a) wewnc¢trzne yebro g18,5mm

b) zewn¢trzne yebro g10,5mm
Oczysci¢ otwory z wiorow.

5.) Przykreci¢ ceowniki 5 w punktach ,c“. Wtozy¢ $ruby z tbem szesciokgtnym M10 wraz
z podktadkami oraz elementami dystansujgcymi 4 w punktach ,b“ i przykrecic
nakretkami zabezpieczajagcymi M10.

43



Typ: 313 140 wersja C

6.) Ustawi¢ koziot holowniczy we wtasciwej pozyciji i dokreci¢ sruby z tbem szesciokgtnym /
nakretki szesciokatne.

7.) Przykrecic ptyte kulowg w punktach “f” za pomocg $rub z tbem szesciokgtnym M10x35
oraz nakretek z kotnierzem M10 a w punktach “e” za pomocg srub z tbem szesciokgtnym
M10x35 do kozta holowniczego 1.

8.) Stosowane sg sruby M12 / nakretki M12 o klasie wytrzymatosci 10.
Stosowane sg sruby M10 / nakretki M10 o klasie wytrzymatosci 10.

Iylomenty dokrecajgce:
Sruby M12 - klasa wytrzymatosci 10.9 93 Nm + 5%
Sruby M10 - klasa wytrzymatosci 10.9 Nm + 5%

Punkty mocowania wyznaczane seryjnie przez producenta samochodu i dopuszczone w ABE
zostaty zachowane.

Instalacja elektryczna wykonana zgodnie z wytycznymi StVZO.
Zapewnione sg wymiary montazowe oraz wolnych przestrzeni zgodnie z normg DIN 74 058.

W szczegolnosci zwraca sie uwage na to, ze w przypadku pdzniejszego montazu kozta
holowniczego wtasciciel pojazdu jest zobowigzany do ztozenia wniosku do wtadz
administracyjnych (wydziat ds. rejestracji samochodow) o ponowne dopuszczenie tego
samochodu do eksploataciji, przedktadajac ekspertyze stwierdzajgcg zgodny z przepisami
stan pojazdu.

Opisywany koziot holowniczy wraz ze wszystkimi elementami montazowymi wazy ok.
18,5 kg. Po zamontowaniu kozta holowniczego nalezy uwzglednic¢ zwigkszenie cigzaru
pustego samochodu o te wartosc.

Zalecenie:

W przypadku montazu przedmiotowego haka holowniczego w samochodzie
dopuszczonym do eksploatacji w Szwaijcarii.

Zatgczong naklejke informujgcg o obcigzeniu przyczepowym nalezy naklei¢ na haku
holowniczym w dobrze widocznym miejscu. Zamieszczona na naklejce informacja o
obcigzeniu przyczepowym odnosi sie do haka holowniczego. Dopuszczalne obcigzenie
przyczepowe nalezy sprawdzi¢ w dokumentach samochodu.

Postanowienia, ktoérych przestrzeganie wymagane jest w przypadku wykorzystania
samochodu do prowadzenia dziatalnosci gospodarczej:

Nowe przepisy socjalne Unii Europejskiej zalecajg wyposazenie nowych i aktualnie
uzywanych samochodow w urzgadzenie kontrolne, jesli samochod stuzy np. do przewozu
towarow a suma dopuszczalnych obcigzen catkowitych dla samochodu i przyczepy
przekracza 3,51.

Z powyzszego przepisu wytaczone sg:
samochody, ktore stuzg do przewozu oséb i ktorych konstrukcja oraz wyposazenie
jest przewidziane do przewozu 9 os6b wtgcznie z kierowca,
- samochody, ktore stuzg do przewozu towarow i ktérych dopuszczalny ciezar
catkowity wtgcznie z przyczepag nie przekracza 3,5 t,

- samochody, ktore stuzg do nie zwigzanego z dziatalnoscig gospodarczg, przewozu
towaréw wytgcznie do celow prywatnych, np. do przewozow w gospodarstwie
domowym, jak rowniez przewozow zwigzanych z uprawianiem hobby i sportu
(przyczepy mieszkalne, do przewozu fodzi i koni).

44



Typ: 313 140 wersja C

UWAGA:

W przypadku osob prowadzgcych wypozyczalnie fodzi, handlarze koni itp. ciggniecie
przyczepy stuzgcej do przewozu todzi lub koni w ramach prowadzonej dziatalnosci
gospodarczej jest traktowane jako gospodarczy przewodz towarow.

A zatem miarodajny jest konkretny cel jazdy. W razie potrzeby nalezy udowodnic¢
prowadzenie transportu nie zwigzanego z dziatalnoscig gospodarczg.

Ponadto wtasciwe wtadze krajowe na wniosek mogg udziela¢ zwolnienia z wyzej
przytoczonego przepisu Unii Europejskie;j:

- samochody, ktére w promieniu 50 km od miejsca swojego statego pobytu (wtgcznie
z terenem gminy, ktorej centrum zawiera sie w tym okregu) wykorzystywane sg do
transportu materiatow lub wyposazenia, ktorych prowadzgcy pojazd potrzebuje do
wykonywania swojej dziatalnosci (pod warunkiem, ze kierowanie samochodem nie
stanowi gtoéwnej dziatalnosci prowadzgcego pojazd) lub ktdre sg wykorzystywane do
przewozu towaroéw w gospodarstwach rolnych, ogrodniczych, lesnych lub rybackich,

- samochody, ktore stuzg do przewozu odpadow zwierzecych lub korpusow zwierzecych
nie przeznaczonych do spozycia przez cztowieka,

- samochody, ktore stuzg do transportu zywych zwierzgt z gospodarstw rolnych na
lokalny plac targowy lub z placu targowego do lokalnych rzezni,

- samochody, ktore stuzg do prywatnego transportu koni wyscigowych w nie
wymagajgcych zezwolenia przyczepach sportowych,

- samochody, ktore sg stosowane jako przewozne stoiska handlowe na miejscowych
rynkach lub do prowadzenia sprzedazy domokrgznej, wypozyczania ksigzek, ptyt
gramofonowych lub do prezentacji wystaw obwoznych, i ktore w tym celu sg specjalnie
wyposazone.

Jesli mimo tochcg Panstwo wykorzysta¢ samochod osobowy z przyczepg do
gospodarczego przewozu towarOw zalecane jest, poprzez wybor lekkiej przyczepy, nie
przekraczanie 3,5 t dopuszczalnego ciezaru catkowitego pojazdu wtgcznie z przyczepa.
Poza tym istnieje mozliwos$¢ zredukowania dopuszczalnego ciezaru catkowitego
istniejgcej przyczepy bez stosowania zmian konstrukcyjnych, tzn. nalezy zmieni¢ odnos$ng,
informacje w dowodzie rejestracyjnym przyczepy i/lub na tabliczce znamionowej. W tym
celu przyczepe nalezy przedstawi¢ urzedowo zatwierdzonemu rzeczoznawcy TUV/TUH;
ktory dokona zmiany w ksigzce wozu; nastepnie wydziat rejestracyjny (wydziat ds. ruchu
drogowego) poprawi dowod rejestracyjny pojazdu.

Niniejszg instrukcje montazu nalezy dotgczy¢ do dokumentow samochodu.

45



D
Oodnyieg ToroVETNONC 01 AetToVEYiog

OQULOLES EPUAES CeVENG ne oToLyna

A@uduog e£agrnuarmv Westfalia: 313154

Tomog: 313 140 aparrayny C
Xagatnoiondg adeiog EK: el3 00-0428

Xo1on:

Mercedes-Benz: 408 (D) - 415 (D); (Sprinter amx6 to 1995)

ar VW LT 35... 46; (VW LT2)

KAoUBa kal Asw@opeio pe peta&ovio 3550 mm kai 4,6 TOvoug eTTITPETTOUEVO OUVOAIKS BApOg
“Adero ToTov EK:

Mercedes Benz: Tmoc C, D, G, H, 904.

ar VW: 2DX0OAZ

Teyvia otoryeia:
H eieyuévn D-tiuq avépyetar ota 17,82 kN. Avti) n tuf avuotolyel yioo TOQAdELYUO O€

ovuovAovuevo Bapog 3000 kg ar oe emtpemduevo ovvold Bapog 4600 kg. Ymrepioyouv dumc to
otolyelo oto PLPAlo dtotnoilog ar oty adeta Aettoveyiog Tov oxNuatos. H edeyuévn un D oev
emrtpémetal va Eemepaotel. To emtpemduevo Phog otnEENC 0ev emteémetol va Eeepdoel Ta
120 kg.

1 Bdon Tov 0ToadOQOV QUUOVANONG UTOQEL Vo HOVTOQLOTEL €vac OUVOEOUOG LLE OQOLOLY)
epain LevENc ne otioLyna M évag ovvdoeouog pe eipo Levéne. Katd to povrdoiopa touv ouvoéouov
ue meipo LevEng mpémel va tnenolv oL dooTdoelg Tov eAevdeQov YHOEOV CVUEMOVO, UE TO
mapdotnuo 1 Tov avowopov TEdAnne atvynuatov TOynua (VGB 12).

H Bdon tov 0t00:0000u QUUOVANONG €MTEETETAL VO, Y ENOtpHoTon Vel yio T QUUOVATON
TRélAeQ OV elval eEomMouévo ue avtiotoryo unyoavoud {evEng yio opooy e@ain. ‘Otav atd
v toroVétnon g PAone Tov 0ToudOQOU QUUOVANOTG £xel apupeDel 0 Plog QUUOVANONC
TOV OYNUOTOG, TOTE UwoEEel va yonotporotnVel 1 fAorn Tov 0To0dOQOV QUUOVANONG MG
aVTLATAOTOOT), 0TO Padud Tov d0ev EemepéTol TO emTEETOUEVO BAQOG QUUOVATIONG oL 1] OAN
dodtooio Taypotomwoleitar og 0QOUOVS CVVIDIOUEVNG VAOPOQLAG.

YxooeiEn 1: H Bdon tov otoaddoov puuoUAnong eivon éva eEGQTnua ao@areiog on
emrteémetal vo tomoveteltaw puovo amd ewdtevuévo mpoowmd. Ta ovroiratid,
010 Bodud Tov elvol aTOQUiTN T, ETMTEETETOL O CUTA VO LOVTAQOVTOL LOVO OTTd
ELOLEVUEVO TROOMTLO TAV® O0TO YVAOLO €EAQTNUA, TO OTOlo deV TEETEL Vo
mopovoldlel auta {nud . Aroayogeveton dde aAAayy 1} LETATQOTY OTN BAon Tov
0100000V puuovAnong. Tétoleg aAlayéc 1 ueTATQOTESG 00N YOV exiong otnv
avQMON NG AdELOG AELTOVQYIOC.

Yrooein 2: Aporpéote To VALG LOVOONEC N TNV eEOTEQN TEOOTOOLN TOV dATEDOV - O€
TEQITTOON TOV VLAY oWV - axd TNV TeQLoyN Tov Vo ToroVetnVel 1 fdomn Tov
01000600V QuuoVANOoNC. EralPte TIg yuuvég HeTaAMEG ETPAVELEG TOV
OUOEDUOTOC LE AVTLOMOLAO Y QMDLLOL.

Yxooeitn 3: Xe wegintwon 0dNynomng pe TeéiAe TEETEL VO TQOOEEETE TIC AVTIOTOLYEG
WoOElEELC OTIG 001 Yieg AetTovEYLOG TOV OTACEVAOTY] TOV OYULATOG.

46



Tmog: 313 140 wagairayn C

2

£TMA0

4: X’ ovuti ™ Baon Tov 0ToadOQOV QUUOVATONE UITOQOVV VO LOVTAQLOTOUV 0T
v o adrovDo eE0QTHUATAL.

1.) Bdon ue opaipa Cevénc, Timog: 329 061 /329 062

2.) ZOvoeouog ue metpo Cevéng, Tomoc: 243 U 115 EL
H Bdaon pe opaipo CevEng au 0 avtdvouog ovvdeouog ue xetpo Levéng
ETMUTEETETOL VO, LOVTOQLOTOVV ETONG oL o€ ouvovaoud W €va ovoTnua Tayelog
aAAOYNC OUVOEOLLOV.

3.) ZKAAOTTATI €KTOG TwV GAAWV OTO onueio "d"

Ilepeyouevo Tov moétTov TG Pdonc Tov 0TCAO0QOV PVUOVANOTNG:

®éon  Ovouoota IToo6tTO
1 Kotouddpog ouuovinong 1

2/3 XMoLyua 2
4 Evoldueoog ooinvog 4
5 Mpo@iA"U" 2
6 Bida eEayowng epaing M12x1,5x100, atnyopia oavtoyxng 10.9 8
7 Bida eEayowng epaing M10x90, atnyogia avroyng 10.9 4
8 Bida eEayowng epaing M10x35, atnyoplo avtoyxng 10.9 4
9 Bida eEayowng epaing M10x30, atnyoplo avroyxng 10.9 4
10 Ioa&udad aopoareioc M 10, atnyopta avroyng 10 2
11 E&ayowd maluad M 10, atnyopla avtoyng 10 4
12 E&ayowd maluad M 12x1.5, atnyopta avroyng 10 8
13 Poodéha 13x24x2.5 8
14 Oomyleg TomoVEéTnomng 1
15 Podéha 10,5x25x4 4
16 Podéha 10,5x21x2 4

Kotdloyos Tov d1o0éoiuov avrtorlrlatidv Tne faong Tov oToad6gov

QuuovAneNg

Ao,  avrtailotol Ovouaoio

913 154 650 001 [Moéto e€aptnudtmy otepémong (Véon 4, 6-16)

913 154 617 001 Mpo@iA "U" (Déom 5)

913 154 619 001 Ytotyuo. (Déom 2, 3)

Odnyiec TomoUéTnong:

1)

ZefdmoTe Tov plo pUHOUANONG Tov oxNuaTtos. O plog QuuovANoNg o yetdleTan

TAéov. AponpéoTe Tov PedLd TEOYO amtd TO OTHELYUE TOV. ATOUOQUVETE TNV
eyotdotaon eEoymyne Tov avoaegimy, 600 vl oaaiTnTo.

2)

3)

4.)

5.)

KpatoTe TN BAon Tou KOToOAdOpou puhoUAKUoNnG 1 Kal Ta oThpiypata 2/3 kK&Ttw atrd 10
OXNMa Kal EUBUYPAUMIOTE TRV OTO ONUEIo "a" PE TIG OTTEG TTOU UTTAPXOUV aTTO TNV TTAEUPA
TOU OXAMATOG. TOTTOBETAOTE TIG Bideg e€ayWVIKAG KEQAANS M12 oTo onueio "a" kai BIdwoTe
TIG EAAQPA PE TIG POOEAES KAl TA TTAEINABIA EEAYWVIKAG KEPAANG.

2TTpwETE Ta TTPO@IA "U" 5 TTdvw OTIG UNKidEG TOU oxNUaATog Kail BIdwaoTe Ta EAappd OTO
onueio "c" pe TIG Bideg e€aywVIKAG KEQAANS M10 kai TIG pOOEAES. 2TEPEWOTE TA TTPOPIA "U"
5 (Mpooégte Tn didoTaon: 28mm).  ZnuUadEWTe TIC OTTEC "b" Twv TTPo@IA "U" 5 TTédvw OTIg
MNKIOEC TOU OXNUATOG. ZERIBWOTE TA TTPOPIA "U" 5.

TPUTTAOTE TIG PNKIGEG TOU OXAUATOG OTO onueio "b" (BAETTE Toun A-A)
a) EowTepiko Toixwpa @18,5mm

b) E€wTepIkd TOiXWHa 310,5mm

A@aipéoTe Ta yPEQIA aTTO TIG OTTEG.

BidwaoTe ta Tpo@iA "U" 5 oTo onueio "c". TotroBeTroTE TIG BideS e€aywVIKAG KEQaAg M10
Madi hE TIG POOEAEG KAl TOUG ATTOOTATEG 4 OTO onueio "b" kal BISWOTE TIG PE TA TTAgINAdIA
aocgaAeiag M10.

47



Tomog: 313 140 mepairayn C

6.) Euvduypoupiote tn Phon tov otoeddpov pupodAnong ai opifte ald Tig Bideg eLaymwrig
gpoAng au Ta efoyowd mwobipddia.

7.) Biddote T Pdon pe tn opaige (eVEng oto onueio T pe g Pideg eEayownig epalrc
M10x35 o To mebpddio aoporeiog M10 o oto onueio Te“ pe tg Ploeg eEaywwrig epalig
M10x35 oty Bdon tov otowdspou pupovAnaong 1.

8.) Xpnowowowotvtar Bideg M12 / ma&ipdaodio M12 tng atnyopiog avroyng 10.
Xonowoxowotvror Bideg M10 / mo&ipddie M10 tng atnyopiag avroyng 10.
Poxég otopEnc:

Bideg M12 - atnyopia avroyng 10.9 95 Nm +5%
Bidec M10 - atnyopia avroyng 10.9 55 Nm +5%

Ta avowd onpeie otqeEng Tov eivar adopiopéva andé TOV UTACEVROTY] TOU OXNHATOG oL
eyepluévo oTT YEW ddeLa Aettovpyiag €xouv TnenUeEl.

Hleto eyotdotoon odppwve pe tov StVZO
O buoTdoEelg TpooD1ng aL eAetdegov ydpov olppave pe To DIN 74 058 eivar eEoopalopnévec.

ISaitepa VILOSELVIETAL, TOG O LOLOTHTNS TOV OXNLATOC OF TEQINTMON MOG £ TOV VOTEQMV
TomoDétnong xeénel va {nTioel and Tig apuoddieg dowmTiég vmeeoieg (I'gapeio
Zuyovevdv) o véa ddewn Aeitoupyieg yio To dxnpa, Tapovoldfoviag ouyyeoveg TNV
é¢0eon, oTnV oxoio mMOTOTOLELTAL 1] OVUPMVY HE TOUG avoviopolg aTaoTaoT) TOV O)fHaTOoG.

Avti 1 Bdon Tov otouddgov guuovinong poll pe dra ta eEapTipaTe povragiopatog Cuyilel
nmepizov 18,5 kg. IToguald AdPete vwdyn oag, 6T uetd tnv ToroBétnon tng Paong Tov
otoaddpov gupotinong avdvel To Pdpog Tov oxNuatog oug atd 18,5 kg.

-

Lt mepintmon TorodETnong autii TS oeaioii)s e@aiic CeVENS pe oTiotypa ¢’ £va Oynua pe
aodcra vloqmgmg ot EiPetia:

To ownp,uavo CUTOOAAT|TO 0. TO Tpaoog gvuovlnong mpéxel va ToroBetnDel Thvo ot
oeali) epoAr] LevEng pe otioype o e aid opati Béom. To tog Tov Pagoug guuolinomng
apoed Tn opaipt epair} {evEng pe otiolyua, To emTEERSNEVO PBaoog QUHOTANOTG TOu
oxMuotog PoloeTar oTo XEQTIE TOV QUTOLVI|TOU.

To_mpémer vo mQOGEEETE O MEQITTOOT) EXOYYEALATIYG X01ieNS QupIovAoD oyfueTos ar TeEAEQ

O vesg owmwsg odnyieg tng EK mpofAémouv Yo To VEQ L VL0 TC nbn g€ 'U?LO(pOQLCL
EVQLOOPEVA oxnum’a TOV aéo:n:lwuo UE e (moavn eréyyouv 115 EK, 6tav m.y. to oympa
XQTOLLOTOLELTOL Yi0L TT) HETOPOQA EUTOQEVUATMVY (L OTO Badpd mov to ovvohd Pagog Tou
oxnuatog or Tov TeéAep Eemegvd toug 3,5 Tovous.

Axd avt T odtoln eEapodvran:
-To oyfuote oV XENOLUEVOVY Yo TT) UHETAPOQE TEOodTMV L AdY®m TEOTOL CTACELYG
oL gEomAopot eivor aTdAANAC oL TEOPAETOVTOL YO0 TN METAQOQA MEXQL aL 9 aTopwY,
ovumepLAopfavouévou oL Tou odnyov.

-To oyfUeTe oV XETOLLOTOLOTUVTOL Yo TT] LETAPOQE EUTOQEVHAT®V UL TMV OXOIWV TO
eTTEETONEVO OVWOAS Papog poll pe To Tpéhep dev Eemepva Toug 3,5 THVOLS.

- Ta. oY UETE. TOV YOT)OLLOTOLOVVIOL UT) ETQYYEALUTIA Y10 LETOUPOQE EPTOQEVUATOV
TOAEWOTIE Y10 LOLOTLO COXO, T.y. OLOOWOLEG WETOQOQAG OTTV TEQLOXN TG
atofog addg ar yio goumv ou omop (TEélhep TEOYOOMTIGV, COQMV OL UETUPOQRGG
aAoYmV).

48



Tmog: 313 140 wagairayn C

XHMANTIKO:

INo Toug evouaotég oaemdv, Tovg eUTOQOVG AAOY®V TA. 1| QUUOVANON T.X. €VOG 0AQPOVG 1
EVOC TEELEQ UETOQOQAG aAOY®Y OTA TACLOLO TNG ETOYYEAUATLNG dQOOTNQOLOTNTAC GVIEL
OTNV EXAYYEAUNTLY] UETAPOQA EUTOQEVUATMV.

Inuooio £xel Aowtdv 0 ovyeQLUEVOS 00TTOC TNG UeETaPods. H un exayyeApomn petopod
TEETEL EVOEYOUEVMC VO TEUTQLODEL.

Et6¢ avto0 umopovv ot 0oUOOLEC QUTLEG VRN QEOLEG VO €YQIVOUY UETA aXd OYETLY aiTnon
eEongéoels ya:

- Oynquota Tov yenopoxotovvtal o€ o ativa S0 yiu. axd T Paon Tov oxMuUaTog
(ovumeQLAoUBOVOUEVIC Ol TNG TEQLOYNG OUOUDY, T®V OTol®mV To £viQo PolosTal puéoo o’
aUTH TNV oTiva) Yo TN HeTa@oed vAov 1 eEomAlonov Tov yeetdleTar 0 0dNyo¢ atd TV
eTELEOT TOV €TAYYEALOTOG TOV (TOoUmODeOoN elvan, OTL 1] 0O YNOT TOV OXNUATOG dEV
amotelel TNV VoLo Aoy OANOT TOV 001 YOV) 1] XONOLLOTOLOVVTOL OO ETULY ELONOELS UE
YE®EYLEG, MTEVTLEG 0L O0OLEC O0QUOTNELOTNTEG 1 amd €Y ELENOELS LY DVOOAMEQYELOG.

- To oyquota TOL Y ENOLULOTOLOVVTAL YLOL T LETOPOQN (IO 0TOQQLUUATOV 1 YLoL TEUAYLOL
Lodmv ov dev Tpoopilovtol yia dLaTEOEY) OVDQOTM®V.

- Toa oyquota Tov Y ENOLULOTOLOVVTOL Yo TN UETAPOQRE {ovTavay (dmV arxd ayQoTlég
ETMYELEQNOELG OTLG TOTUEC OYOQEC 0L QVTLOTQOMO 1 OXd TG AY0QEG 0T TOTUE OPaYELa.

- H wiotn petagpopd tov aldywyv oc omop Teéhe Ymelg adeta earpeitat amxd TV
avaeeouevn odtaén g EK.

- OyNuota Tov YENOLUOTOLOVVTAL MG OYUATH TTOANONG O TOTUEG AYOQEG | VLo
TEQLOEQOUEVT TOANOT), Yo doveloud PLpAlwv, dlomv LOVOLIG N YLO. TEQLPEQOUEVES
eVéoelg o elvar edd eEommopévo yo. avtd To ooxo.

‘Otav Déhete va yonotpworooete OU®G €vo e Patid avToivTo YLOL ETOYYEAULOTLY
LUETOPOQE EUTOQEVUAT®V, O0G CUNOTOUUE, ETUAEYOVTAG VA EAOPQEOTEQO TRELAEQ, VO UMV
vrepPeite 1o emTEeETOUEVO OVVOMS PAQOG TOV OYUOTOG CUUTEQLAOUPOVOUEVOL oL TOV
T0é1AQe TV 3,5 TOVeV. TTdoyel adua 1 dOvvaTdHTNTO TNG UelONG TOV EMTEETOUEVOL
ovwvoloU Baoovg eVOg VITAQYOVTOS TEELEQ Y ®EIG aTOOEVOOTLE UETQM, ONA. TNG GAAAYNG
QUTOV TOV OTOLXElOV TV otV Gocla Aettovpyiag Tov TEéhe o Tavem otV Juvaido
Tirov. ITpog Tovto mpémel va edeyyDel To TEEALEQ ad £vav emion U AVOYVOQLOUEVO
noaypatoyvopove tov TUV/TUH, yia ) dtépdwon oto Pipirio tdotnoiog Tov oxfuotod,
LETA OLOQVMVETOL 1| GOELDL AELTOVQYIOG TOV OYNUATOG OTO Yupelo ovyovowdv (Yaneeoio
0Odng Kviogopliag).

AVTEG oL 00MYieg TOTOVETNONG TETEL VO UAGYOVTOL OTO, Y 0QTLE TOU CLUTOLVITOV.

49



Navod k montazi a provozu
Tazna zarizeni

Westfalia objednaci Cislo: 313 154
Typ: 313 140 Proved. C
Cislo povoleni podle smérnice 94/20/EG: e13 00-0428

Oblast pouziti:

Mercedes-Benz: 408 (D) - 415 (D); (Sprinter od roku 1995)

a VW LT 35...46; (VW LT2)

Skfiniova verze a verze minibus s rozvorem 3550 mm, pripustna celkova hmotnost 4,6t
typové oznaceni:

Mercedes Benz: Typ C, D, G, H, 904.

a VW: 2DX0OAZ

Technicke udaje:

Kontrolovana hodnota D (tlak) ¢ini 17,82 kN. Ta odpovida napr. celkové hmotnosti pfivésu
3000 kg a pripustné celkové hmotnosti 4600 kg. Smérodatné jsou vSak udaje

v technickém priikazu / osvédceni o technickém prukazu vozidla. Kontrolovana hodnota D
nesmi byt pfrekroCena. Povolené zatizeni podpéry nesmi prekrocCit 120 kg.

K zavésnému zafizeni se mlze primontovat spojovaci koule s drzakem nebo Eepova spojka.
PrimontaZzi Cepove spojky se musi dodrzet rozméry volného prostoru podle prilohy 1 pfedpisu
ochrany proti arazu “Vozidla” (VGB 12).

Zaveésneé zarizeni se smi pouzivat pouze k tazeni priveést s odpovidajicim zafizenim pro
pripojeni na kouli. Musi-li se kvlli montazi zavésného zarizeni odstranit vietné oko, potom
slouZzi zavésné zarizeni jako jeho nahrada, pokud se neprekroCi celkova hmotnost pfivésu a
vleCeni (taZzeni) probiha na silnicich pro béZznou dopravu.

Pokyn 1: Tazné zafizeni je bezpeCnostni dil a smi byt namontovan jen odborniky.
Kazda zména popf. pfemény na tazném zarizeni jsou zakazany. Vedou jen ke
ztraté platnosti provozniho povoleni.

Pokyn 2: Odstranitizolacni masu popf. ochranny natér podvozku vozidla - kdyz existuje -
v oblasti pritlaénych Castitazného zafizeni. 0Cisténé Casti karoserie, jakoz i vyvrty
uzavrit barvou proti rezavéeni.

Pokyn 3: P¥ijizdé s pfiveésem musi byt dodrzeny pokyny pro jizdu, uvedené v provoznim
navodu vyrobce vozidla.

50



Typ: 313 140 Proved. C

Pokyn 4: K tomuto zavésnému zarizeni Ize prfimontovat nasleduijici dily.
1.) Deska s kouli, typ: 329 061 / 329 062
2.) Cepova spojka, typ: 243 U 115 EL
Deska s kouli a samocinna Cepova spojka se smi montovat také ve spojeni
se systémem pro rychlou vymeénu spojky.
3.) Stupatko mimo jiné v bodé ,d*

Objem dodani tazného zafizeni

Pos. Oznaceni PocCet
1 Zaveésne zarizeni 1
2/3 Podpéra 2
4 Rozpérna trubka 4
5 Profil ve tvaru pismene U 2
6 Sroub se estihrannou hlavou M12 x 1,5 x 100, tfida pevnosti 10.9 8
7 Sroub se Sestihrannou hlavou M10 x 90, tfida pevnosti 10.9 4
8 Sroub se estihrannou hlavou M10 x 35, tfida pevnosti 10.9 4
9 Sroub se Sestihrannou hlavou M10 x 30, tfida pevnosti 10.9 4
10 Matice s nakruzkem M10, tfida pevnosti 10 2
11 Sestihranna matice M10, tfida pevnosti 10 4
12 Sestihranna matice M12 x 1,5, tfida pevnosti 10 8
13 Podlozka 13x24x2,5 8
14 Navod k montazi 1
15 Podlozka 10,5x25x4 4
16 PodloZzka 10,5x21x2 4

Dodatelné nahradni dily tazného zarizeni

Nahradny dil €. Oznaceni

913 154 650 001 VPE - P¥ipevinovaci dily (polozka 4, 6-16)
913 154 617 001 VPE - Profil ve tvaru pismene U (polozka 5)
913 154 619 001 VPE - Podpéra (polozka 2, 3)

Montazni navod:
1.) Od3roubujte vlecné zavésné oko. Oko odpadne. Vyjmé&te z drZzaku rezervni kolo.
Vyfukové zarizeni, pokud je to nutné, vyvéste/demontujte.

2.) Zavésnyram 1avzpéry 2/3 pridrzte podvozidlem avyrovnejte v bodech ,,a“ podle otvoru
vyvrtanych ve vozidle. Srouby se Sestihrannou hlavou M12 nasad’te do bodu ,,a“ a volné
seSroubujte Sestihrannymi maticemi s podlozkami.

3.) Profily 5 ve tvaru pismene U nasurite na podélné nosniky vozidla a v bodech ,c“ je volné
seSroubujte Srouby se Sestihrannou hlavou M10 s podloZkami. Profily 5 zafixujte (Dbejte
na rozmér: 28mm). Vyvrtané otvory ,b* v profilech 5 vyznacte do podélnych nosniki
vozidla. Profily 5 opét odSroubuijte.

4.) Vyvrtejte otvory do podélnych nosnikt v bodech ,b“ (viz fez A-A)
a) Vnitfni sténa g18,5mm
b) Vngjsi sténa g10,5mm
Otvory ocistéte.

5.) Profily 5 pfisroubuijte v bodech ,c“. Srouby se Sestihrannou hlavou M10 s podloZkami
a distan¢nimi viozkami 4 nasad’te do bodu ,,b“ a seSroubujte Sestihrannymi pojistnymi
maticemi M10.

51



Typ: 313 140 Proved. C

6.) Ramzavésného zafizenivyrovnejte a Srouby se Sestihrannou hlavou / Sestinranné matice

pevné utahnéte.

7.) DeskuskoulipfriSroubujte k zavésnému zafizeniv bode “f” Srouby se Sestihrannou hlavou
M10x35 a s maticemi s nakruzkem M10 a v bodé “e” Srouby se Sestihrannou hlavou
M10x35.

8.) Pouzijte Srouby M12 / matice M12 tfidy pevnosti 10
PouZijte Srouby M10 / matice M10 tfidy pevnosti 10.

Utahovaci momenty:

Srouby M12 — tfida pevnosti 10.9 IZEE] Nm +5%
Srouby M10 - tfida pevnosti 10.9 ANmM +5%

Vyrobcem vozidla sériové povolené upeviovaci body se musi dodrzet.
Elektrické zafizeni podle StVZO.
Montazni rozméry a rozméry volného prostoru odpovidaji DIN 74 058.

Upozoriiujeme na skutecCnost, Ze pfi provedeni dodateCné montaze musi provozovatel
vozidla pozadat (a souCasné predloZit znalecky posudek o predpisovém stavu vozidla) o
nove povoleni k provozovani vozidla u pfislusného uradu (dopravni inspektorat).

Vaha prazdného vozidla se zvySi po montazi tazného zafizeni o 18,5 kg.

Upozornéni:

V pripadé montaze tohoto zavésného zarizeni k vozidlu, registrovaném ve
Svycarsku:

Prilozenou samolepku celkové (uZiteCné) hmotnosti privesu musite nalepit na zavésné zarizeni
na dobfre viditelné misto. Tento udaj celkové hmotnosti privesu se tyka zavésného zafrizeni,
pripustnou celkovou hmotnost privésu vozidla najdete v dokladech vozidla.

Na co musite dbat, pokud pouzivate tazné vozidlo a pfFivés k podnikani:

Nové socialni pfedpisy ES predepisuji pro nova vozidla a vozidla, ktera jsou jiz v provozu,
jejich povinné vybaveni kontrolnim pristrojem ES, pokud vozidlo slouZi nap¥. k prepravé
zboZi a pokud je soucet povolené celkové hmotnosti motorového vozidla a privésu vyssi nez
3,5t

Tento predpls se nevztahuje na:
Vozidla, ktera slouzi k preprave 0sob a ktera jsou svou konstrukci a vybavenim
vhodna a urcena k prepraveé az 9 osob — v€etné fidice.

- Vozidla, ktera slouZi k prepraveé zboZi a jejichZ povolena celkova hmotnost v€etné
privésu nepresahne 3,5 1.

- Vozidla, ktera se pouzivajik preprave zbozivylucné pro soukromé ucely (tedy nikoli

pro podnikani) napt. na chalupu, jakoZ i pro své hobby a pro sport (obytné privésy,
privésy pro lodé a kong).

52



Typ: 313 140 Proved. C

DULEZITE:

Pro ptjcovny lodi, obchodniky s kofimi atd. se pouZzivani priveésu napt. pro prepravu lodi Ci
koni hodnoti v ramci obchodovani jako preprava zbozi za uCelem podnikani.

Smérodatny je tedy konkrétni ucel jizdy. Pfepravu, ktera neslouzi k podnikani, je tfreba
eventuelné prokazat.

Nehledé na to mohou prislusné urady té které zemé udélit na pozadani vyjimky pro:

- Vozidla, ktera se pouzivaji pro prepravu materialu nebo zafizeni v okruhu 50 km od
trvalého stanovisté vozidla (v€etné uzemi obci, jejichZ centrum leZi uvnitf tohoto okruhu),
ktera potfebuje fidi€ k vykonu svého povolani (pfedpokladem je, Ze Fizeni vozidla neni
hlavnim zaméstnanim fidiCe) nebo ktera pouZzivaji podniky z oblasti zemédélstvi,
zahradnictvi, lesniho hospodarstvi Ci rybolovu k prepravé zboZi.

- Vozidla, ktera slouZi k prepravé ostatku zvirat nebo tél zvirat, ktera nejsou ur€ena pro
konzumaci.

- Vozidla, ktera se pouZzivaji k preprave Zivych zvirat zemédeélskych druzstev na mistnitrhy
a obraceng, nebo z trhl na mistni jatka.

- Nasoukromou pfepravu zavodnich konive sportovnich pfivésech, u nichZ nenipovinna
registrace, se vySe uvedeny predpis ES nevztahuje.

- Vozidla, ktera se pouZivaji jako pojizdné prodejny na mistnich trzich nebo pro
ambulantni prodej, k pdjcovani knih, desek nebo pro putovni vystavy a ktera jsou
k tomuto uCelu specialné vybavena.

Chcete-li Vas osobni automobil s privésem i pfesto pouzivat k pfepraveé zbozi za u€elem
podnikani, radime Vam, abyste si vybrali néjaky lehky pfivés, abyste neprekrodili
povolenou celkovou hmotnost vozidla v€etné privésu 3,5 t. Jesté je zde dalSi moznost, Ze
snizite celkovou povolenou hmotnost stavajiciho priveésu bez montaznich opatfeni, tzn. aniz
byste museli tyto idaje ménit v osvédceni o technickém prukazu privésu a/nebo na
typovém &titku. K tomu je tfeba predvést privés Gfedné uznavanému znalci TUV/TUH, aby
opravil udaje v technickém prikazu vozidla; potom se opravi osvéd&eni o technickém
prikazu vozidla na prislusném dopravnim inspektoratu (Urad pro silniéni dopravu).

Tento navod k montazi musi byt pfiloZzen k dokladiim vozidla.

53



L0l 169 VG €1€

Namis AnodA L

-D-

| ¥XGTXS'0L
B6XOLIN

2wy

ZXLTXS'0 _‘\Jw/

w

!

wweg‘glLe

(€)' ¢

In
1N

===

wiwgz eo

N

B|PIZOA
yjusou Aujgpod

wwsg‘oLe

54



D- Der Freiraum nach Anhang VII, Abbildung 30 der Richtlinie 94/20/EG ist zu gewéhrleisten.
DK -  Frirummet skal overholdes iht. bilag VII, fig. 30 i direktiv 94/20/EF.
CZ - Volny prostor ve smyslu Prilohy VII, obr. 30 Smérnice &. 94/20/EG musi byt zarucen.

E- Debe garantizarse el espacio libre, conforme al anexo VI, figura 30 de la directiva comunitaria CE/94/20.
F- La zone de dégagement doit étre garantie conformément a I'annexe VI, illustration 30 de la directive 94/
20/CE.

FIN -  Vapaatila on taattava direktiivin 94/20/EY liitteen VII, kuvan 30 mukaisesti.
GB -  The clearance specified in appendix VI, diagram 30 of guideline 94/20/EG must be guaranteed.
GR- T[pémel va e€ac@alideTal 0 EAeUBepOG XWPog aupPwva pe To TTapapTtnua VI, eikova 30 Tng Odnyiag 94/

20/EOK.

H - Biztositani kell a 94/20/EK iranyelv szerinti, VIl. szamu fliiggelék 30. abraban jel6lt szabad teret.

| - Deve essere garantito lo spazio libero secondo l'allegato VII, figura 30 della direttiva 94/20/CE.

N - Frirommet etter tillegg VI, avbilding 30 i direktiv 94/20/EEC skal overholdes.

NL - De tussenruimte conform supplement VII, afbeelding 30 van de richtlijn 94/20/EG moet in acht worden
genomen.

P - Garantir a zona livre, conforme Anexo VI, grafico 30 da Norma 94/20/CE.

PL - Nalezy zagwarantowac przestrzen swobodng wedtug zatgcznika VI, ilustracja 30 wytycznej 94/20/EG .

S - Spelrummet enligt bilaga VII, figur 30 i riktlinje 94/20/EG skall garanteras.

SLO - Zagotoviti zratnost po priklopu VII, slika 30, smernice 94/20/EG .
SK - Volny priestor v zmysle Prilohy VII, obr. 30 Smernice ¢. 94/20/EG musi byt’ zaru€eny.
TR- 94/20/EG Yonetmelidi, Ek VII, Resim 30'da belirtilen serbest alan byrakylmalydyr.

M

3
% o N
Q 3 ©
o) 29 o [}
=] S = <) o a
9] 88 w8 3 ¢
N c g2 °Sg ¢ € 3 ®©
c & 95 o= 9 £ °
S O > 8 S o3 o = o
1 L =035 N 5 o5 3 N
N=35QC o O O -2 0 o)
n .o 023°x X o O 03X >
max. 100 Vo >QWQo O50n L O 2
Tegscl2X 2509 cof D o
o / H‘gwmhm o 5} G (&) o
S /- - 8®O>8= "EE§>>(D C_ﬁcg
. . ._’§c—33mu=OEmHONH-§~~>
= min. 65 S 8s9TEGON >ET oL NOD
€ e 20y T2anpB8gool8s 3 ES
-— moEO@mﬁﬁwo*—';U@,—_:\;
A1 ™ E“E%ENQQ:O-ZQWE'GE%'—’@
A ﬁ_,_r SoolREgsooEPeoE 22200
hRE=coZTcLOPETSEGESE
l L w>‘58c§t583‘=ﬁfﬁgé<§a%‘—5
Z_ N =8
P A & Oﬁagg':O‘ODEHOEE‘L‘SiO—%
A E =i S SEESSLR2ELENTFTGHCE S
gl § m%’aﬁgsmggogmgg’;_a'é
£ O.%mgg;gmg.wgggggmggm
€ g W%OOEO;EEQQEOQ_g%O%
WMBXNOZETD g8 o SXC
A IEEEG.)Q_SCDOEC,_.EO-O_06\
o N“QQLOUI—LDXO >\O'OO\
C)" m._'O._CDCC_U ~(Uh'0*—'ENq_._._Q-
b N O OE 0088 =0 0:=200B8BCE®
ok £o>00ade>csa>00a0>Saak
et
'
II III 1 1
[V ||meI , ! : '_I'gxﬂlf
[ala) LuLuweooIr_z=z2 anunwn k-
\::
P
W A
&.—

LN,
~
=

E
LN,
~
R

=

max. 30° |

55



DK -
Cz -

FIN -

GB -

GR -

SLO -

SK -

TR-

56

Der Handhebel Freiraum von Bolzenkupplungen nach Anhang VII, Abbildung 33 der Richtlinie
94/20/EG ist zu gewahrleisten.

Frirummet for boltkoblingernes handtag skal overholdes iht. bilag VII, fig. 33 i direktiv 94/20/EF.
Volny prostor ru€ni paky Cepovych spojek ve smyslu Prilohy VII, obr. 33 Smérnice C.
94/20/EG musi byt zarucen.

Debe garantizarse el espacio libre para la palanca manual en los enganches por pernos,
conforme al anexo VII, figura 33 de la directiva comunitaria CE/94/20.

La zone de dégagement du levier de I'axe d'attelage doit étre garantie conformément a
['annexe VI, illustration 33 de la directive 94/20/CE.

Vetoaisakytkimien kasivivun vapaa tila on taattava direktiivin 94/20/EY liitteen VII, kuvan 33
mukaisesti.

The hand lever clearance of bolt couplings specified in appendix VII, diagram 33 of guideline
94/20/EG must be guaranteed.

Mpétel va e€aoc@alifeTal 0 EAeUBEPOG XWPOGS YIA TOV XEIPOPOXAO CUOTNUATWY (EUENG WE TTEIPO
oupgwva pe 1o TrTapaptnua VI, eikéva 33 1ng Odnyiag 94/20/EOK.

Biztositani kell a csapos tengelykapcsolok kézikarjanak szabad terét a 94/20/EK
iranyelv VII. fuggelékének 33. szamu abraja szerint.

Per la leva a mano deve essere garantito lo spazio libero dai giunti a pioli secondo I'allegato VI,
figura 33 della direttiva 94/20/CE.

Frirommet for boltkoplingers handtak etter tillegg VII, avbilding 33 i direktiv 94/20/EEC skal
overholdes.

De hendeltussenruimte van boutkoppeling volgens supplement VII, afbeelding 33 van de
richtlijn 94/20/EG moet in acht worden genomen.

Garantir as zonas livres para alavancas de acoplamentos por pinos, conforme Anexo VII,
grafico 33 da Norma 94/20/CE.

Nalezy zagwarantowa¢ swobodng przestrzen dzwigni recznej sprzegiet palcowych
wedtug zatgcznika VI, ilustracja 33 wytycznej 94/20/EG .

Spelrummet for bultkopplingens mandverspak enligt bilaga VII, figur 33 i riktlinje 94/20/EG skall
garanteras.

Zagotoviti zratnost ro€nega vzvoda sklopk sornikov, po priklopu VI, slika 33 ,
smernice 94/20/EG.

Volny priestor ru€nej paky Capovych spojek v zmysle Prilohy VII, obr. 33 Smernice C.
94/20/EG musi byt zaruc€eny.

Pimli kavramalar icin 94/20/EG Yonetmelidi, EK VII, Resim 33'te belirtilen el kolu serbest
alany byrakylmalydyr.






